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6261 FiE =FA ¥ 90 156 74.4 7266 R 3hdk # 100 252 74.8 826fz 1£18 @t # 86 10.8 752
6276 BN A # 90 156 74.4 721 R0 AF ¥ 82 7.2 748 8274 £ EME # 98 228 752
BN B 9 21.6 74.4 20O #LF ¥ 88 132 748 8281 WHE HEk B 92 16.8 752

6204 K15 Bi% # 9 156 74.4 20O #LF # 88 132 748 820f BN = # 80 4.8 752
630% Il 1 # 78 3.6 744 7306 B P B 94 19.2 748 8304z HA & B 92 16.8 752
6314 &k % ¥ 84 96 744 B B B 94 192 74.8 8311 MM E ¥ 98 228 752
6321 TE —&E B 9% 216 744 7320 FE E— # 88 132 748 8321 Tk & # 86 10.8 75.2
6334 AT ERE B9 156 74.4 7334 EE FEF B 88 132 74.8 833 B FEZ= # 86 10.8 75.2
634f HME i # 9 156 74.4 7344 (FiE & # 88 132 748 8344 KIEE HB—ER B 92 16.8 752
6356 Rl BF B 102 276 744 7356 hE & # 88 132 748 8354 EEL i # 86 10.8 752
6360 18 Bz # 18 3.6 74.4 7366 Rt EMAE # 88 13.2 74.8 836% =/l E—ER B 98 228 752
63741 &)1l —% ¥ 9 156 74.4 B AHT % ¥ 82 72 748 &L E—ER # 104 28.8 752
638 faK WX ¥ 84 96 744 7384 RiEE B 82 72 748 838f Ek fz # 80 4.8 752
BA BX # 78 3.6 744 7306 Il iz B 9% 192 748 8394z AHHE 7 # 80 4.8 752

BA X # 78 36 744 74060 EE = # 88 13.2 748 8404z F.t FRE B 92 16.8 752
6410 gEZ B # 84 96 744 TAGL HE AR # 82 7.2 748 841fz IUA FEX B 98 228 752
64201 43 EF # 90 156 74.4 M6 = B # 94 19.2 748 8424 1O ¥E— B 92 168 752
6434 HEA = # 8 96 744 7434 EERE B # 76 1.2 748 843f: BHE EfE # 92 16.8 752
644 ZERE E= ¥ 84 96 744 1AM 1REE W ¥ 8 132 748 BAAfE #k FRE ¥ 74 412 752
6454 |LUEA 2% B 90 156 74.4 7456 TR B # 0 8 7.2 748 8454 EE THIF # 86 108 752
646fz LA EH ¥ 9 156 74.4 7467 BE FA ¥ 9% 192 748 846 BA B # 98 228 752
6474 B EF ¥ 9 156 74.4 TATHL AN $EE #9192 748 84T SH RIK # 98 228 752
B ®F # 9 156 74.4 74841 tEFH 27— # 88 13.2 748 848l En HE # 8 10.8 752
6494 fhE E|F # 9 156 74.4 7490 EERE E B 9% 192 748 8494 hE HE B 98 228 752
6504 1EEA B— # 90 156 74.4 7506 B R # 88 13.2 748 850 BA == # 86 10.8 752
6511z KIEE #H—EB # 90 156 74.4 751 Bk iz # 88 13.2 74.8 851w #EA SEH B 92 16.8 752
KIEE #H—ER # 90 156 74.4 7524 KET BREE # 88 13.2 748 852 O &z # 8 10.8 75.2
6534 1EE #H#F B 9% 216 744 7534 18 &= #9192 748 853 HEH fh— # 8 108 752
6544 T EME #0102 27.6 744 1544 ik EEA B 9% 192 748 854f HE B # 8 108 752
6554 B E—ER K 84 9.6 74.4 155461 FtE K& e 82 7.2 74.8 855 MLt #% 110 34.8 75.2
BY = # 84 96 744 7564z MR f2— # 82 7.2 748 856f |Uth =IF # 92 16.8 752
6574 EIE EE ¥ 9 156 74.4 1574 BN B #8 7.2 748 8571 B & B 92 16.8 752
658f 0 EB|E # 78 3.6 744 7584 TEEE st #9192 748 8584 T/ BR ¥ 98 28 752
659f M4 B # 90 156 74.4 7596 KEF TR # 88 13.2 748 8594 Ei BT B 92 168 752
660% {FiE B— # 90 156 74.4 7604 TR &Kk # 106 31.2 74.8 8604 HH ES # 86 108 752
6611z 1A B # 96 216 744 1612 = %5 # 88 13.2 748 8611z AME EX # 92 16.8 752
6621 B 1= # 78 3.6 744 7620 JEME 4 # 81 60 750 862 EA)I| B # 103 27.6 75.4
663f P FLAR # 84 96 744 7634 thit EE # 93 180 750 8631 FIR Toff B 97 216 754
6641 BT B # 84 96 744 764% B —% # 93 180 750 8644 Rl F=EA # 103 276 754
6654 M f— # 90 156 74.4 7656 B3 1 # 87 120 750 8650 WA NEF # 91 156 75.4
6661z EEEH # 102 27.6 74.4 766(% B 52 B 99 240 750 866f ik =B # 91 156 75.4
6674 BHH EE B 9 156 74.4 767 GH EB #0099 240 750 8674 2 BN # 97 216 754
6684 WO NEF B 80 144 746 7681z AR BBF #0099 240 750 868 Ak ¥ # 109 336 754
669% 2B & # 89 14.4 746 7694 B i # 87 120 750 8694 ILUEA X # 079 3.6 754
670z (LM ®ExX # 71 24 T46 7106 BB %F B 93 180 750 8704 hek T # 91 156 75.4
MEREES # 83 8.4 746 Tz KB B # 81 60 750 871 /INFA FE— # 8 96 754

6721 NIkt &% ¥ 89 144 746 T2 E#E =7 # 87 120 750 8726 fF®E ihEk # 91 156 75.4
673 FIF == B 89 144 746 773 Rl — 5 # 93 180 750 873 i #F # 103 27.6 754
6741 B &H # 89 14.4 746 774 \LSF Tk # 87 120 750 874 B iBif # 8 96 754
6754 TA KIE # 89 144 746 775 TE & # 93 180 750 B g # 91 156 754
676 TE EE ¥ 83 84 746 71662 #ot BRE B 93 180 750 876f &I A B 97 216 754
6774 K15 Bi ¥ 89 144 746 TTME = & # 81 60 750 8174 1E1R # B 97 216 754
6781 Rl #®E # 101 264 746 7184 KK £E # 81 60 750 8784 EK BE— B 97 216 754
6794 ®E A # 95 204 746 7194 & FEHE # 111 360 750 8794 J\A ZEAD # 91 156 754
680f H& HiA # 83 84 746 780% EE B # 87 120 750 8801 WE fHEA # 91 156 754
6811 £ TART # 80 144 746 8 EE B # 81 60 750 881 Ml —=m B# 91 156 754
6821 ERE BT ¥ 89 144 746 1820 IERE —& # 111 360 750 8821 #3F ¥ 97 216 754
6834 thE f& B 89 144 746 7834 ME E # 93 180 750 8834 LLSF Tk # 91 156 754
6844 ED 1 # 89 144 746 T8AfL thRE thEE # 81 60 750 884% I 1B # 8 96 754
6854 AMH = # 101 264 746 7850 =% FE # 81 60 750 8854 /NFFE 1818 # 97 216 754
6861z Ht+m BE ¥ 83 84 746 7861 T EE B 99 240 750 886% InE E— B 97 21.6 754
6874 AT FH#t # 83 84 746 187 B8 ER B 99 240 750 8874 I # 91 156 754
6881 HE B # 101 264 746 7881 RLE # 93 180 750 888l = = # 8 96 754
6804 &Il —3k # 83 84 746 g % # 87 120 750 889f KT IE # 91 156 754
6904 BA WX ¥ 89 144 746 7904 A B— # 87 120 750 8901 #AK WX # 91 156 754
6911 M3 HEAX # 83 8.4 746 916 RE BEB B 99 240 750 801 M= FT= B 91 156 754
6921 FIF Eth # 83 84 746 7920 KB ME # 105 30,0 750 8921 S E=F B 97 216 754
AiF Eth # 83 84 746 7934 HHE 7 # 81 60 750 893f: FFIE L # 103 276 754
6944 HIE FHE # 101 264 746 7944 i HE B 99 240 750 841 £k = # 91 156 75.4
695f FE & # 95 204 746 79561 #RA # 81 60 750 895 TR — # 91 156 754
6961 IAF Eib ¥ 89 144 746 7964 HH £ # 93 180 750 8961z ZHME =t # 8 96 754
6971 BA mEHt # 95 204 746 1976 R AR B 99 240 750 8974 FEE HE(E # 91 156 75.4
6984 =B & # 83 84 746 798t KB 2 # 87 120 750 8984 A FIE # 91 156 754
6994 /MR BN B 71 2.4 746 7994 Lt # 93 180 750 8994 ARE M # 91 156 75.4
7004 1EE B— #1001 26.4 746 8004 JIlO Hih # 93 180 750 9004 S48 BE B 97 216 754
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IE & FLLyv—4% GROSS HDCP  NET IE 2 FLAv—% GROSS HDCP  NET IE 2 FL1¥—% GROSS HDCP  NET
9014z LIl 183X # 91 156 754 100162 Bk MY # 101 252 758 11014 BT EmE B9 228 762
9021 1hRE #HEH # 79 3.6 754 1002tz HiE E # 89 132 758 1102t B8 &% B 93 168 762
903fz /NE IEEA # 8 96 754 1003t i # B 9 19.2 758 11036 /Mt BB # 105 28.8 762
9044z NE BLF # 91 156 754 10044 EfT 35 B 101 252 758 110462 /NE EMH # 87 108 762
905 =FH % # 79 36 754 10050 #83# Sk # 89 13.2 758 110561 &#& Wt # 93 168 762
9061z A T # 91 156 754 #H BEX # 9 19.2 758 11066z LT EA B 99 228 762
9076 BEA mEit ¥ 8 96 754 10074 /NEFEA E— # 101 252 758 11076 #1438 FI42 #9168 762
9084z HE == ¥ 91 156 75.4 1008 £F F0E # 89 132 75.8 11084 MME == B 99 28 762
909 B H#A # 91 156 75.4 10094 HiE = # 89 13.2 758 11091 BEE %5 B9 28 762
91041 B BE= # 91 156 754 10106 ZEiE B % 77 1.2 758 111062 A/ A # 87 108 762
911fz BR %= ¥ 97 216 754 1011tz M8 == # 9 19.2 758 i HIl EE ¥ 93 16.8 76.2
9124 /& FIR #0079 36 754 10126 AIF Eth # 8 7.2 758 1126 183 #2— B 93 16.8 762
9134 KA IEFE # 97 216 754 10136 {4k FE B 9% 19.2 758 11136 AR Bk # 81 48 762
9144 183 fo— # 91 156 75.4 10144 448 BE # 101 252 758 1146 BiE £4 # 87 10.8 76.2
9154 i HE ¥ 91 156 754 101561 KT &5 # 9 19.2 758 111561 fhit BE— # 87 108 762
916/ =% EMEE # 103 27.6 754 101667 =8 &M # 101 252 758 11166z L Eth # 81 48 762
9174z B T # 103 276 754 10176 && B # 89 13.2 758 M7 Bk iz # 87 10.8 76.2
9184z kO Ef ¥ 97 216 754 10186 BRIl 1% # 8 7.2 758 11186 K mF # 87 10.8 762
9194 HiE HEH #0097 216 754 10196 44 #H— # 101 252 758 11196 #)1 B # 87 10.8 76.2
9204 LA £= ¥ 91 156 754 10204 BikE BE= # 71 1.2 758 11206 L & B9 28 762
92147 3% fE— ¥ 8 96 754 10216 #BH #&— B 89 13.2 758 216 k& =% # 87 10.8 76.2
9221 FiE EH # 103 276 754 10224 5@ #F # 9 19.2 758 11226 %A BF B 99 228 762
9234 KR8 B # 97 216 754 10231 X H—EB 77 1.2 758 11234 FMA #03h # 93 16.8 762
9244 A #H= ¥ 91 156 75.4 10246z +E 288 # 89 132 758 11244 2@ it #0999 28 762
9250 K43 AR B 97 216 754 10256 #E =F # 107 31.2 758 112561 501l AER # 81 48 762
9260 AhIER f2— # 8 96 754 10266 HK fz # 89 13.2 758 112661 2 S29r ¥ 93 16.8 762
927 FFH HE # 91 156 754 10274 #RiE HBE # 101 252 758 M =4 5= # 87 10.8 76.2
9284 HH iz # 91 156 754 102861 MIFt =t ¥ 89 132 758 11286 =1F {IE # 87 10.8 76.2
9294 I A # 97 216 754 10201z #E Kt # 83 7.2 758 11206 =g £ # 93 16.8 762
9304 Lh EFT # 8 96 754 1030tz E® SIHF # 9 19.2 758 11306 B #12 B 93 16.8 762
931z BE FIE B 73 +2.4 754 103162 sl ZE—&R # 89 132 758 11316z LG BEF B 99 228 762
9321 AHHE BE # 91 156 754 10326 /& FIE # 89 132 758 1326 W & B 93 16.8 762
933 EIE E— ¥ 79 36 754 103342 B fRAER # 8 72 758 1336 KiF @7 ¥ O75 +1.2 762
9344 il WE # 90 14.4 756 10340 B 2 # 9% 192 758 113461 FKA #—ER ¥ 87 10.8 76.2
935 UM % # 8 84 756 1035f HIE {28 ¥ 89 132 758 11350 eIl BEk B9 216 764
936 = Bl # 90 14.4 756 10366 ik K=F # 107 31.2 758 11366z A &M B 92 156 1764
937z RO AF # 84 84 756 10374 1341 f— # 9 19.2 758 1376z %3l # 86 96 764
938 {EAR Hift # 78 24 756 10384 LM EF # 9 19.2 758 138 RO B B 98 216 764
9394 AN A # 9 204 756 10391 wh#t iR # 9% 192 758 11304 A #x ¥ 104 276 76.4
940% B B # 9 204 756 104047 Hh &R # 101 252 75.8 11406 =H B B 92 156 764
B B # 102 26.4 756 10416 mf = # 89 13.2 758 11416 & h%k # 92 156 764
9421 B ¥ B 90 144 756 10826 =i 2L # 77 1.2 758 M4 5 & # 86 96 764
943 {hRE =ER # 9 14.4 756 104361 =48 E= # 8 72 758 11436 BiR 17— # 8 96 764
944 B = # 9 204 756 10441 et =B # 100 240 76.0 1445 =45 Efg ¥ 98 216 764
9454 B # # 9 204 756 10456 2BE A8 # 9% 180 76.0 1145 EiE 5 ¥ 104 276 76.4
9461z TR XIE # 84 84 756 104612 2 &=or ¥ 94 180 760 1146 E8I E£F # 92 156 1764
04T ER =k # 84 84 756 10476 RO B # 100 24.0 76.0 11476 1A =8 B 92 156 76.4
948 E8R BAIL B 90 144 756 RO B # 100 24.0 76.0 114861 ¥ ZK # 9 216 764
9494 D 1 # 9 204 756 104961 JIlAt &% # 8 120 760 11496 76 —&% ¥ 9 216 764
9504 EA& B # 78 24 756 10504 FE B # 8 60 760 11506z FRiE & % 104 27.6 764
95141 A BH— # 90 14.4 756 10514 N iE # 82 60 760 11511 AlE &#hF ¥ 104 27.6 76.4
9524 AIE FH#t # 84 84 756 10524 +@& =F # 8 120 76.0 1152 &3 Sk B 98 21.6 76.4
A H # 84 84 756 1053 E&N #F # 100 24.0 76.0 11536 &M@ #i— # 80 36 764
9544 HHE # # 84 84 756 10544 &K st B 9% 180 760 11546 &0 & B 92 156 764
9550 /NIl KJ\ # 90 144 756 105561 % {HER # 9% 180 76.0 115561 #tll % # 8 96 764
9561 EFpiE EE # 90 14.4 756 10561 Ak BUR ¥ 88 120 760 115662 A Ea # 98 21.6 764
9574 BF —EB ¥ 9 144 756 10574 1LSF w3k # 8 60 760 1574 BE B # 86 96 764
958% KB B ¥ 9 144 756 105841 #reh BEk # 82 60 760 115861 BT MR B 9% 216 764
959f: A1l FIR # 9 204 756 1059f1 AE = # 106 300 76.0 11596 KB 15 B 92 156 764
960 =% FE # 8 84 756 10606 %S B # 82 60 760 11602 B BE # 92 156 76.4
9611z ERk W= # 102 26.4 756 106162 BA =& # 112 36.0 76.0 1161z F/iE =t # 92 156 76.4
9621 1258 ERL #0102 2.4 756 10621 #HE K # 100 240 76.0 11626 AL %A # 86 96 764
9631 ZERE BT # 90 144 756 10634 &)1 —* # 82 60 760 1163 =% FH&E # 86 96 764
9644 KIEE #H—ER # 108 32.4 756 10644 EM B # 88 120 76.0 116461 /NE EMH B 92 156 764
965%; AME #HF # 8 84 756 10654 #% @ F # 112 36.0 76.0 1165( TEAH s # 98 216 764
AB %HF ¥ 9 204 756 106667 15 &%= # 100 240 760 1166 IO & % 104 27.6 1764
9671 D BE # 84 84 756 10674 HRE BH # 100 240 76.0 11674 &% BF # 98 216 764
9684 FiE = ¥ 9 144 756 1068f iR [ ¥ 94 180 76.0 116861 3 #£— B 92 156 76.4
9691 #JIl BT ¥ 9 144 756 10694 &)1 %HEE ¥ 88 120 76.0 116961 Nl EF # 8 96 764
9704 47 HH # 9 2.4 756 10704 K4EE #H—ER B 94 180 76.0 11706 W1l =& % 80 36 764
9711z ta=E Mith # 18 24 756 10716 % BF # 94 180 76.0 716 =2R & # 98 21.6 764
9721 KW B # 84 84 756 107261 = 1T # 8 60 760 N2tz 148 @R # 9 216 764
9734 Bl Bk # 90 14.4 756 10736 B+t B # 88 120 76.0 11736 EEh = B 92 156 76.4
9744 KF K—ER # 9 14.4 756 10746 FEE R&T ¥ 9 180 76.0 1746 % Fn B 92 156 764
975%: BME EBA # 90 14.4 756 10756 Ik EZE B 94 180 76.0 1756 fhit BE— % 8 96 764
9761z KIF A # 84 84 756 1076fz AH #¥ ¥ 88 120 1760 11766 #5 Ean ¥ 92 156 764
977 MR BB #0102 264 756 10774 HE #7 # 88 120 76.0 NI A E—EB B 92 156 764
9784 JIlE H= # 90 144 756 10781z KB & ¥ 9 180 76.0 N786L # FBF B 98 216 764
9794 £F B # 9 14.4 756 10796 Kt #— ¥ 8 120 76.0 1796 N FNE B 92 156 764
980t HME EXE # 9 204 756 108061 /& FIE # 94 180 76.0 1180 ALt RHEER B 92 156 764
981t wmE = # 90 14.4 756 1081 B %k # 88 120 76.0 11816 A = B 92 156 764
9824 /K (4B ¥ 102 264 756 1082 /it BE— # 106 30.0 76.0 118261 K #F ¥ 104 276 76.4
9834k JEM 4 # 83 7.2 758 10836 =i o # 88 120 76.0 1836 FHl HE— B 92 156 764
984f HE BF # 101 25.2 758 10844 R = # 106 300 76.0 11844 12341 f— B 92 156 764
9854 |LE X # 89 13.2 758 10856 k3t 1E4 # 94 180 76.0 11854 LIl #AIE # 104 276 76.4
986z KIF nE # 101 25.2 758 10861z F%H &2 B 100 240 760 11861 #aA =i B 92 156 764
9874 B fi2— # 9 19.2 758 10876 B ik # 93 16.8 76.2 11876 k&K H= # 86 96 764
9884 AR 1EIE # 101 25.2 758 10884 & & # 93 16.8 76.2 11884 =48 £/ B 92 156 764
989f A [BF # 95 19.2 758 10891 ek =3 B 93 16.8 762 118961 24 #h # 98 21.6 764
9904z FIB EMTF # 89 13.2 758 10006 BH =F B 99 228 762 11906 7Bk 9 # 8 96 764
B EmT # 89 13.2 1758 10016 2 & # 87 10.8 1762 o1 EME & % 68 84 766

HEB ENF # 89 13.2 758 1092tz FHIl BEIE # 87 10.8 76.2 1926 O NEF B 91 144 766
9934 KB EEF # 89 132 758 10034 1O & # 87 10.8 76.2 Lo NEF B 91 144 766
994f K B # 89 13.2 758 10944 &K s # 87 108 762 11944 #HE BF # 103 264 76.6
9954 FHE KR # 95 192 758 10956 PHE B= # 81 48 762 HE BT # 103 264 76.6
996fr KB BB # 9 19.2 758 1006( & BE # 93 16.8 762 11966 Il BX ¥ 97 204 766
99741 Il # 77 1.2 758 10976 £ FEF # 93 16.8 76.2 1976 # —% ¥ 91 144 766
998 TR —&E B 9 19.2 758 1098f BEE A # 93 16.8 762 119861 #& {EMF B 9 144 766
999f XFH —th # 89 13.2 75.8 1099tz SFE # 93 168 762 199 RO #F # 91 144 766
10004 3% B= ¥ 9 19.2 758 11004 M@ {& # 93 16.8 76.2 12004 1O & B 91 144 766
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IE & FLLyv—4% GROSS HDCP  NET IE 2 FLAv—% GROSS HDCP  NET IE 2 FL1¥—% GROSS HDCP  NET
12014 BH HE B 97 204 766 130162 /M1l WEFEH # 9 180 77.0 14016 mMES = B9 216 77.4
1202 168 =ER # 97 204 766 13021 %I B E # 101 240 77.0 14026 FE RHEER ¥ 105 276 77.4
1203t Rl = # 97 204 766 1303tz &F TF # 101 240 77.0 14036 # Z=F # 105 27.6 77.4
12046 K& BB B 9 144 766 13044 FEE SE1T B 9 180 77.0 14046 #F)I W B 99 216 77.4
12056 EME BT B 97 204 766 13056 JEM B4 ¥ 89 120 77.0 140561 A i ¥ 99 216 7.4
B BT ¥ 9l 144 766 13061z ek REF # 113 36.0 77.0 14061z A BF B 99 216 77.4

120742 F& EAT ¥ 91 144 766 13074 1LEE S% # 101 240 77.0 14074 #£RAK = # 87 9.6 7.4
1208 Rk 2 ¥ 91 144 766 13081 KB ZZ # 8 60 7.0 14084 fEtE MEdE B 111 336 7.4
12094z % #ngl # 103 26.4 76.6 13091z AE W # 113 36.0 77.0 14094 EM # # 8 84 716
12104 ®AT B # 8 84 766 13106 NBE &2 # 9 180 77.0 141062 71 3R # 110 32.4 771.6
12116 k& B # 103 264 76.6 1311tz LT &KX # 113 36.0 77.0 4116 WiE =8 B 92 144 776
12120 ¥ARE 1% # 8 84 766 13126 EB) BX ¥ 94 16.8 77.2 w026 Bz &5 # 98 204 7.6
12136 MR & # 97 204 766 13136 e =3 B 100 22.8 772 14136 AR 17— # 0 9 24 77.6
12146 FHE) & ¥ 91 144 766 13146 B %L B9 168 772 14146 RE #X ¥ 092 144 716
12166 BE BEE # 91 144 766 13156 A 8 B 94 168 71.2 14156 EMH B 92 144 716
1216f LA &2 ¥ 19 24 766 13166z F& 8hk ¥ 94 16.8 77.2 14166z ®L B= # 104 264 77.6
1217 &8 #F B 97 204 766 131761 =#& Ef # 94 168 77.2 4176w —&E B 92 144 7716
1218z FMA #th # 9 144 766 13181z TE HEH # 88 108 77.2 141861 ME IER # 104 264 77.6
12196 ZERE & # 103 26.4 76.6 13196 Kig B # 88 108 77.2 14194 BT EfE ¥ 92 144 776
12206 HE B # 8 84 766 13206 &k =— ¥ 100 228 77.2 1420 Bk Y B 104 264 716
122161 =B WF ¥ 97 204 766 132117 ®& {REA B 9 168 77.2 14216 FH BE ¥ 92 144 71.6
12226 %8 #it B 109 32.4 766 13226 Bl 5 # 88 10.8 77.2 142261 KR BEA ¥ 98 204 77.6
1223 BFE AF # 97 204 766 13236 #ME @213 ¥ 106 28.8 77.2 1423 EHM FEt # 110 324 77.6
12244 FEE #E # 103 264 76.6 13244 {47k BB # 100 228 77.2 14246 548 BHE ¥ 92 144 7.6
12256 RRE £F B 97 204 766 132561 (L& Bth ¥ 82 48 7.2 14250 (R $i— BO92 144 776
12260 ROE 2 ¥ 91 144 766 13261 JBE & # 100 22.8 77.2 182667 #FE 5 # 80 24 77.6
122712 Nl #E B 91 144 766 13276 248 B # 8 10.8 77.2 142761 %t EE B 98 204 77.6
1228 =L E—ER # 91 144 766 1328t E& # # 88 108 77.2 142861 +=fr FIiT ¥ 98 204 77.6
12201 W% 2= # 9 144 766 13291 &)1l —% # 82 48 7.2 142911 FRE 23EA B 98 204 77.6
123062 /it BA # 9 144 766 13306 Bpig s #0100 228 77.2 1430z +2= SE B9 144 716
12316 B & ¥ 97 204 766 13311 %8 BEF # 100 22.8 77.2 14316 B2 41T ¥ 98 20.4 776
123260 MR KE B 9 144 766 1332 KB 18 # 88 10.8 77.2 14321 K% BAE B 104 264 776
1233 HMHE £ # 91 144 766 13336 F FNE # 88 108 77.2 14336 INE E— ¥ 9 204 77.6
12346 H%H STHRIF # 8 84 766 13346 K A B 9% 168 77.2 143461 MA & # 104 26.4 77.6
12350 RE RBAS # 103 264 76.6 1335f1 kK &H— # 106 28.8 77.2 14350 /Il ez B9 144 776
123661 2 Zzir ¥ 97 204 766 133612 A RFiF B 9 16.8 77.2 1436 K& & B 92 14.4 776
123760 BRIl #BEF # 103 264 76.6 13376 #A FFE # 94 168 77.2 14371 R& Ef # 110 32.4 776
12384 ®MA BEX # 9 144 766 13386 E&N BT— ¥ 94 168 77.2 14384 HM {283 BO92 14.4 776
12394 A &7 # 97 204 766 13391 RAFE % # 8 108 77.2 14306 Witk KEF B9 204 77.6
12400 E% BE # 8 84 766 1340 FIR B2 # 106 28.8 77.2 14406 K%k BE B9 204 776
128160 —1& #hi— # 9 19.2 76.8 13816 mRE =B # 88 108 77.2 14416 BA B5F B# 104 264 77.6
12426 LA %k # 90 13.2 768 134211 ik BF # 94 168 77.2 14421 BE & B 98 204 77.6
1243t BH HF #0102 252 76.8 13436 s BEE # 94 168 77.2 14436 7T BS B 92 144 716
12045 F#k EHF # 108 31.2 76.8 His 55 B 9% 168 77.2 14046 %% &+ B 92 144 716
12456 RE Bh% # 9 13.2 76.8 13456 #) 2% # 0 8 48 7.2 14456 LO N\EF # 8 72 718
124661 ML =% # 90 13.2 76.8 134667 =08 %017 # 100 22.8 77.2 14461 B —* # 103 252 71.8
12476 BN 4 # 9 13.2 768 13471 FH E— # 100 22.8 77.2 14476 vk TE # 97 192 71.8
12481 B8 ¥B— # 84 72 768 13486 AR R # 9% 168 77.2 1448 RO E# B 97 192 71.8
124061 SEME BT #0102 252 76.8 13494 BiR 5 # 8 108 77.2 104961 1A 8k # 8 7.2 718
12506 BESF M= # 9 19.2 76.8 13504 [EISD #E # 9% 168 77.2 14506 A3 (B # 97 19.2 7.8
12516 BH BE # 9 19.2 76.8 135161 f8% &=H # 8 108 77.2 14516 1BFH HA # 97 19.2 71.8
12626 BpiE mE # 9% 19.2 768 13526 UL EH # 9% 168 77.2 14521 T& BEE #0097 19.2 7.8
12634 EM B # 84 72 768 13634 #WE f2— # 88 10.8 77.2 TE ER # 103 252 77.8
125461 RiF Eth # 9 13.2 76.8 1354(1 EBA HB B 9% 168 77.2 14546 &R B 91 132 71.8
12556 3 R—ER # 9 19.2 76.8 13556 /M #A # 9% 168 7.2 145561 K& & # 91 13.2 71.8
12566 ki iR ¥ 9 132 76.8 135611 &R KA B 9 16.8 77.2 145617 & HE &—ER ¥ 97 19.2 77.8
125744 =% IEE # 8 7.2 768 135761 %5 t§5 #0100 22.8 77.2 145761 FEfE —&E # 91 13.2 71.8
12584 188 EW B 102 252 76.8 135861 —#z #E # 9% 168 77.2 14584 EE BT B 97 19.2 77.8
12594 7RIl £E # 9% 19.2 768 135061 =t RIA # 100 22.8 77.2 14596 FH# HZ #0097 19.2 71.8
126061 KIEE #H—ER # 90 13.2 76.8 136061 =48 =R # 0 82 48 7.2 146061 L BBE # 103 252 77.8
12616 ik 4T # 9 19.2 768 136142 /KO %k # 88 108 77.2 146162 £% I8 # 103 25.2 71.8
126261 % IEF ¥ 9 192 76.8 13620 A = # 82 48 7.2 14620 HE HEH # 91 13.2 71.8
126361 BX H—H # 78 1.2 76.8 136361 /A BEA # 100 22.8 77.2 14634 ARk f2sh # 91 132 7.8
126461 =) R # 9% 19.2 768 136461 FI& =ik # 93 156 77.4 146461 W 183 # 8 7.2 7.8
12656 7RIl 3HUA # 90 13.2 76.8 136561 e B #0099 216 774 14654 A% Z=EA # 91 13.2 71.8
1266z AMB #HF # 90 13.2 76.8 13666z it HF # 87 96 7.4 1466f% 128 B # 97 19.2 71.8
12676 /IR = ¥ 9 19.2 76.8 136761 #HE BB B 099 216 774 =8 ER # 103 25.2 77.8
12684 415 T— B 90 13.2 768 13684 =i —% #0099 216 77.4 14684 /IR BN # 8 7.2 7.8
126061 K& 22 # 8 7.2 768 13694 Il B2 ¥ 93 156 77.4 14694 Bl BB B 91 132 71.8
127061 ThE 35 # 78 1.2 768 137061 EI5 F— B 93 156 774 14706 bt &S # 97 19.2 7.8
I & # 84 7.2 768 13716 AH BT B 99 216 77.4 14716 = % # 103 25.2 71.8

127261 il B2 # 100 240 77.0 137261 =18 =7 # 87 96 774 14726 258 4017 # 109 31.2 77.8
127361 BB E2 # 9 180 77.0 137361 N RS #0099 216 77.4 14731 = #ngl # 103 25.2 77.8
127461 ¥F ® # 8 60 77.0 13744 HE {88 % 81 96 774 147461 WA B8 # 103 25.2 77.8
127561 /ME B # 9 180 7.0 W {hEg % 87 9.6 7.4 14756 KB E8F # 91 13.2 718
12766t BH =¥ # 101 240 77.0 137661 X& EB B 99 216 77.4 14761 g 2 ¥ 97 19.2 71.8
127761 £k 5= # 107 300 77.0 137760 R HsF # 111 336 77.4 14776 HE Kb # 103 252 77.8
12784 {RE Bh% # 9 180 77.0 13781 #3K HEER #0099 216 77.4 147861 thiE BEIL B 97 19.2 77.8
12796 EiE 5 # 95 180 77.0 1379% LLISF #F B 111 336 77.4 14796 B B # 109 31.2 77.8
B 5 # 9 180 77.0 138061 i 1% # 93 156 77.4 14804 #EE 3} # 103 252 77.8

12816 &I EHf # 9 180 77.0 1381 AE &% B 93 156 774 1481 uO N\EF B 90 120 780
BN # 89 120 77.0 1382 #AK WX # 87 96 774 14824 HE BF ¥ 102 240 78.0
12834 #£1E FETF # 9 180 77.0 13831 HH =2F B 105 27.6 77.4 HE BY # 102 240 78.0
1284 B & # 89 120 77.0 13846 &3 =F ¥ 93 156 77.4 14844 Il B2 ¥ 102 240 78.0
128561 s588 iR # 9 180 77.0 1385(; BEO & # 87 96 774 148561 BEA EF #0102 240 780
128617 A& = # 113 36.0 77.0 13861 B34 =— #® 105 27.6 77.4 14861z Il %8 ¥ 102 240 78.0
12874 AR = # 9 180 77.0 13874 %M # 87 96 77.4 14874 #rkt E8 ¥ 114 360 780
12881 £® AETF # 89 120 77.0 1388 &A EH # 93 156 77.4 14881 #HIl IE% B 9 120 78.0
1289f A BE— # 89 120 77.0 1380f =8 % ¥ 93 156 77.4 14800 Tk Mz % 8 60 780
1290f R 31 # 89 120 770 13906 RBEME s ¥ 105 27.6 77.4 1490% i # # 9 120 780
12016 7k BE # 9 18.0 77.0 13011z FE) = #® 111 33.6 774 1491/ FIL 178 ¥ 102 240 780
12926 F)I| = # 89 120 77.0 139217 FE fg— # 81 36 774 14921 £EAR % B 102 240 780
120361 IIE MF # 107 300 77.0 13931 %HiE BE B9 216 77.4 14934 4@ WF # 96 180 78.0
120461 X% —& ¥ 95 180 77.0 13046 FRE 1T # 93 156 77.4 14944 &)1 —* # 8 60 780
129561 ZxI 7t # 9 180 77.0 1395( &% IBF B 99 216 77.4 14956 W8 =E # 9 180 780
12060 =ik ZBRE # 113 36.0 77.0 130612 WA == # 105 27.6 77.4 1496f %% BAA # 9 18.0 78.0
12974 HF 18 # 9 180 77.0 13974 HE —% B 99 216 77.4 149761 ik BF #0102 240 780
1208f =% FE # 89 120 77.0 13981 E+E fg= #0099 216 77.4 149861 &% TF # 9% 180 780
1200f1 #%k E%E # 107 30,0 77.0 13994 HM {28 B9 216 77.4 14994 M1 = # 84 60 780
13004 %O B# # 101 240 77.0 1400t =48 *LE # 93 156 77.4 15006 £% %% % 96 18.0 78.0
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IE & FLLyv—4% GROSS HDCP  NET IE 2 FLAv—% GROSS HDCP  NET IE 2 FL1¥—% GROSS HDCP  NET
15014 #fE E£F # 102 240 78.0 160142 2% &ih # 105 26.4 78.6 170146 s FIk # 106 26.4 79.6
15021 168k EmE # 108 30.0 78.0 160261 48 =X ¥ 99 204 786 17024 E)Il =3 B 9% 144 796
15034 B =5% # 9 18.0 78.0 1603 /NIl Kt B 99 204 786 1703 BH EB8 # 100 204 79.6
15046 &+ ¥4 # 8 60 780 16044 #RE & B 105 26.4 786 170461 MIl HB # 88 84 796
15056 XA —3% # 9 120 780 16054 Ak &= # 110 31.2 78.8 17051 & BF # 100 20.4 79.6
1506fL A% BE= B 102 240 78.0 16061 /INE FERE # 104 252 788 17066z ®L B— # 100 20.4 79.6
15074 Mg &= # 108 30.0 78.0 16074 A& FIB # 8 7.2 788 17076 X& =B # 100 20.4 79.6
1508 12 Z=id ¥ 9 180 780 16081z TE BEE # 98 19.2 788 170811 #RIF HA B O112 324 79.6
15094 =M@ BT B 9 120 780 16001 F# B— # 110 31.2 78.8 1709f &g = B 9% 144 796
1510t 28 & # 89 108 782 16106 Bk 42 # 110 31.2 78.8 17106 AEH = # 106 26.4 79.6
15114z HE BF # 101 228 78.2 16111 BH BE # 98 19.2 788 7 MAZE B # 100 204 79.6
HE BF B 101 228 782 16126 I &3 # 104 252 788 17126 )11 —3% # 88 84 79.6

15136 #HE BB # 101 228 78.2 16136 S & B9 19.2 78.8 wH —% # 8 84 796
15146 RO B # 101 228 782 16146 E#E & B 92 132 78.8 171460 A1 #HER # 8 84 796
151562 $8M FMOER # 95 168 782 16156 %55 B S B 92 13.2 788 17156 +B & B 9% 144 796
1516f2 EIL & # 101 22.8 78.2 16161z 8T EHi- # 98 19.2 788 171662 & £17 B 9 144 796
15176 K& N # 95 168 782 16176 HA & # 98 19.2 788 174 FIA EEE # 88 84 796
15186 & BT # 101 228 78.2 1618tz K& BA%E B 92 132 78.8 17184z HMH £ ¥ O9% 14.4 796
15196 HiE % # 101 228 782 16191 k48 2 # 110 31.2 78.8 17196 B %3 ¥ 94 144 796
15206 JIIX %k # 8 108 782 16204 1512 28I ¥ 104 252 78.8 172061 g2 13 # 106 26.4 79.6
15214 EPJII B ¥ 89 10.8 782 16211z 2 = B 92 13.2 78.8 720 BEA SR # 106 26.4 79.6
15224 s+ &% # 101 228 782 16226 A TiE # 8 7.2 788 172261 KA B4 B 111 31.2 798
15236 B E3 # 107 28.8 78.2 16236 K& 2 B 92 132 78.8 17236 BEH =X #0099 192 79.8
15244 M = # 101 228 78.2 162401 =iy 2 # 8 7.2 788 172461 BB 3A # 87 7.2 798
1525(f =% IFHE # 83 48 782 16256 HH £ B 92 132 788 17256 8K & B 93 132 79.8
152612 &8 &R ¥ 101 228 782 162667 /NE f2AER # 104 252 78.8 17262 @Il E= B 99 19.2 79.8
16276 &)1 HHEE # 83 48 782 162746 RO E # 103 240 79.0 17276 Rk BEF # 105 252 79.8
1628f KiEM #H—ER # 95 168 782 162861 AFH mF ¥ 103 240 79.0 17286 1R AK fEh B 87 7.2 79.8
15206 =) #— # 107 28.8 78.2 16296 /b $E— B 91 120 79.0 17294 A =HF B 111 31,2 79.8
153041 &% IEF # 101 228 782 16306 R 1888 ¥ 109 300 79.0 17304 #AE BEF # 111 31.2 79.8
15316 k& 2 ¥ 107 28.8 782 16316 F1& EFF # 97 180 179.0 173162 KIEE #H—ER # 105 252 79.8
1532 L&t BiA # 9% 168 782 16326 8RFT {2 T B 91 120 790 17321 &L E—ER # 111 31.2 79.8
15334 AM #HF # 95 168 78.2 16336 ¥ A X B 91 120 79.0 17336 #52 2 # 111 31,2 79.8
1534f BSM BEA # 9% 16.8 782 16344 §%M B53A # 109 30,0 79.0 17340 32 H2Hh # 99 19.2 798
15356 K fliz # 83 48 782 16356 1k & # 103 240 79.0 17354 ik REF # 1056 252 79.8
153612 57 Hi # 95 16.8 78.2 163612 A% IF # 109 30,0 79.0 17361 BER HHY B 105 252 79.8
16374 = K— # 113 348 78.2 16376 SH Zh # 79 00 79.0 17376 R #£1th B 93 132 79.8
1538f EIL M # 101 228 78.2 16384 Rk BEs ¥ 91 120 79.0 17386 k2K H= # 93 13.2 79.8
1539f M % # 89 108 78.2 16394 #%5# g B 91 120 79.0 17396 & SKER B 93 132 79.8
15406 # FEF # 101 228 782 #H# 8 # 97 18.0 79.0 174060 K 84 ¥ 104 240 80.0
15411 =@ BEHl # 101 22.8 78.2 16410 B X ¥ 97 180 79.0 17416 Wl B2 ¥ 98 180 800
154201 k% BE # 9% 168 782 16426 FiF Eth # 8 60 790 1742( FAAX BERL # 110 300 80.0
1543 1534 fl— # 95 168 782 164361 AT 4% # 97 180 79.0 174361 % #F # 98 18.0 800
1544 88 B # 101 228 78.2 16441 #AMH 4 # 97 180 79.0 17846 BHE = B 92 120 80.0
154561 KEE @2 # 9 168 782 1645( #FE =M # 91 120 79.0 17456 K2R = # 98 180 80.0
15460 #A & # 89 10.8 782 16460 R =B # 103 240 79.0 1746f %£M $Rth # 116 36.0 80.0
15476 F& =ik # 100 21.6 78.4 16476 #)1 Ei# # 91 120 79.0 17471 BHE REF # 116 36.0 800
15486 F3H (EB # 112 336 78.4 16481 =48 5 # 103 240 79.0 17486 miE T— B 92 120 80.0
15494 FE ah% # 100 216 78.4 1649 EE W # 109 300 79.0 17494 EH Esk # 98 180 800
15506 RO #LF # 8 96 784 16506 k& &2 # 8 60 79.0 175060 /NE& EERL # 104 240 80.0
15516 E& FIF # 94 156 784 16511 B =% # 115 36.0 79.0 17516 HE =17 ¥ 104 240 80.0
16524 HMH Ak # 94 156 784 165261 +H #EX # 115 36.0 79.0 17524 A K # 116 36.0 80.0
1553 TSI HE # 94 156 78.4 16634 #ith B # 109 300 79.0 17531 XA EF ¥ 104 240 800
15544 A @i ¥ 94 156 78.4 1654f EH RE # 109 300 79.0 17546 E# R # 9 180 800
15556 AMH = # 94 156 78.4 165561 #/HA #B— # 108 28.8 79.2 175561 ;2 H2h B 92 120 800
15561 KA =F # 112 33.6 78.4 165662 Eal L{F B 102 228 79.2 175662 # # # 110 30.0 800
15574 A #®F ¥ 94 156 78.4 165761 |A E— # 9 108 79.2 17574 RE Ex # 116 36.0 80.0
16584 Il i # 88 9.6 784 16580 =2 =4 # 9% 16.8 79.2 175861 Il B2 # 91 10.8 802
15504 M HRE # 9 156 78.4 16594 BpiE E3 #0102 2.8 79.2 175961 IR %ﬁ # 109 28.8 802
156061 &Ll Fi— # 8 96 784 16604 HiE 7% # 9 108 79.2 176061 #HE S # 97 16.8 80.2
156162 Wil 18X # 94 156 784 16611z 548 BE # 96 16.8 792 17616 8RiE EA # 109 28.8 80 2
15624 (LM #/5 # 112 336 78.4 166261 /NE 25T #0102 228 79.2 176261 W% HE # 97 16.8 802
15634 7% BF # 100 216 78.4 16634z FEM [&E # 108 28.8 79.2 17636 BpilE % # 103 22.8 802
ik BF # 100 216 78.4 166441 it BERL # 108 28.8 792 17644 LM 25 # 97 16.8 802
15654 A#t & # 8 96 784 16656 #AE *LA # 9 16.8 79.2 176561 =18 BT # 109 28.8 80 2
156642 FISp Eem # 100 21.6 78.4 1666 A BA B 102 228 79.2 1766f% Bi5 B2 # 91 108 802
15676 2L #iith # 94 156 78.4 166761 A+t F— # 9 16.8 79.2 176761 2% # # 115 34.8 802
156841 =Ll E—ER # 100 216 78.4 16684z HMH 2R #0102 228 79.2 176861 il K # 115 34.8 80.2
15604 HiE %%k # 100 216 784 16691 =@ pmEE # 9 10.8 79.2 176961 FHE S # 97 16.8 80.2
15706 FMH Fl— # 82 36 784 167046 &M B B 108 28.8 79.2 177061 BTl fith # 103 22.8 802
15716 5@ R% # 94 156 784 16711 &R REL # 90 10.8 79.2 17716 =@ 28R # 9l 10.8 802
157261 FHt AIF # 100 21.6 78.4 16726 Et BF ¥ 114 348 79.2 7726 mEs = # 91 108 802
15736 Il RIE # 106 27.6 78.4 167360 E#k # 95 156 79.4 17736 F#HMA %67 # 103 228 80.2
157461 JEE # # 87 8.4 786 16744 hek T # 101 216 79.4 1774 == # # 91 108 802
15756 K ahsh # 99 204 786 16756 B 188 # 107 276 79.4 17754 &M FOA B 97 16.8 80.2
K& 3hA # 105 26.4 78.6 167662 1£#k 57 e # 101 21.6 79.4 17766 # % ¥ 103 22.8 802

15776 BB & ¥ 99 204 786 16776 Bk 5 # 101 216 79.4 7776 B B # 97 16.8 802
15784 RO B B 99 204 786 167861 15 ZHE # 101 216 79.4 1778t SME IEH B 102 216 80.4
15796 EI5 B— # 99 204 78.6 TE ESR # 89 96 794 17796 15 REF # 9 156 804
15804 =48 & # 105 26.4 78.6 1680tz RE E= # 9 156 79.4 17804 A% 870 # 9 96 804
1581z AH = # 93 144 78.6 16811z hiE Bz B 95 156 794 1781 =m Bk B 90 96 804
158261 ONA 7% ¥ 99 204 786 16821 BTl Fete ¥ 113 336 79.4 178261 BA BF ¥ 114 336 804
158361 A% —&F ¥ 93 144 786 16834 Bpig & # 101 216 79.4 17831 & E= # 102 21.6 804
158461 BT MR #0099 204 786 1680 TR % # 89 96 794 17844 FLL 1748 # 9 156 804
15856 ik = #0099 204 786 168561 LIl B3 B 101 216 79.4 17854 #0 BE;T # 108 27.6 80.4
1586fz A+ BB ¥ 99 204 786 16861 = &R # 113 33.6 79.4 17861 4L 7w ¥ 108 27.6 80.4
158741 1L F0E B 93 144 786 16874 AM #WE # 107 276 79.4 17874 ik E7% B 102 21.6 804
15884 M #H— # 105 26.4 78.6 16884 N EA # 9 156 79.4 17884 B B # 96 156 804
15894 188 FM #0099 204 786 16894 Bl EE # 101 216 79.4 17896 45 A ¥ 102 216 80.4
15906 %% = ¥ 99 204 786 16904 HiE A # 107 27.6 79.4 179062 ®L f5F # 108 27.6 804
15016 B2 1T # 111 32.4 78.6 16011 %t H= # 101 216 179.4 17916 il & # 108 27.6 804
15924 &L FE—ER B 99 204 786 16926 W IE= # 9 156 79.4 17926 FIL —F ¥ 108 27.6 80.4
1593 ¥ mz B 93 144 786 1693tz =12 &7 # 8 96 794 179361 #% 1Eth # 108 27.6 80.4
15944 ALt BRE #0099 204 786 16944 HAH EZ # 9 156 79.4 1794 FiE B # 102 21.6 80.4
15956 TN KB # 93 144 786 1695 1534 f— ¥ 95 156 79.4 17956 K 8hA # 107 26,4 80.6
1596f 2@ EiE # 81 84 7186 16061z #1)Il =8 # 107 276 79.4 1796f &A =3 ¥ 113 32.4 806
15976 R % #0099 204 78.6 16974 A % # 101 21.6 79.4 17974 #ul B= # 107 26.4 806
15981 ik AER # 87 84 786 1698 Il H<H # 107 27.6 79.4 179861 WA #E # 101 204 806
15904 #B4% FEtt ¥ 99 204 78.6 169911 )l =%F # 9 156 79.4 17994 B 1534 # 107 264 80.6
160061 ik = ¥ 93 14.4 786 17004z JEE # B 94 144 796 18006z SELL 178 # 101 204 806
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1.5.6.7.8.9.10.11.12.15.16.18
BAfER : 20214068018 (k) % 1.3.4.5.6.8.13.14.15.16.17. 18
IE & FLLyv—4% GROSS HDCP  NET IE 2 FLAv—% GROSS HDCP  NET IE 2 FL1¥—% GROSS HDCP  NET
18014 Bpig ;53 # 101 204 806 190161 BH =F # 119 36.0 83.0 20014 #k EFI # 127 360 91.0
18021 #En = # 8 84 806 19024 AEA BE # 119 36.0 83.0 20021 ¥ BHX # 127 360 91.0
18031 A E= ¥ 9 144 806 19034 BEE BhsE # 119 36.0 83.0 20031 EK BEF # 127 36.0 91.0
18044 Ll HIE # 101 204 806 190461 BFt fFE # 119 36.0 83.0 2004 FE K& #0127 360 91.0
180541 HA EH # 107 264 806 190561 stk KEF # 119 36.0 83.0 20056 #E AT # 127 36.0 91.0
18066 B EST # 101 204 806 19064 Yu Ji Yeun ¥ 119 36.0 83.0 2006f ¥1H = # 126 348 91.2
18074 %A R # 112 31.2 80.8 19074 BRI e # 118 34.8 83.2 20074 KI5 2 # 120 28.8 91.2
18081 #4K #HER # 106 25.2 80.8 19081 MBHTF % # 106 22.8 832 20084 BRE fFRK # 123 31.2 91.8
1809fz X% IE ¥ 94 132 808 10094 Bl BE # 112 28.8 832 20004 JIE &2 B 128 360 920
181062 SEIL 748 # 100 19.2 80.8 191062 B84 Ih # 118 34.8 832 20106 #3F EX # 128 360 920
18114z £% #0688 # 100 19.2 80.8 1011 K& = % 118 34.8 83.2 20114 &0 %Al B 128 36.0 920
18126 85K BA # 112 31.2 80.8 10126 +7 % # 99 156 83.4 20124 T sk B 128 360 920
18134 5@ B— # 9 13.2 80.8 19136 &L E—ER B 104 204 836 20134 #BE Z=# #0128 36.0 92.0
18144 &1L B—ER # 100 19.2 80.8 19146 A3 #S B 116 32.4 836 20144 FNE E— B 115 228 92.2
181562 % #A # 106 252 80.8 191561 &Il —f& # 97 13.2 838 20154 I 54T B 129 360 93.0
18161z Il Ezr # 106 252 808 1016f &% %a # 115 31.2 83.8 2016f =3 = B 129 36.0 93.0
18176 & —% # 105 240 81.0 19176 42 T8 # 109 252 838 2017 BFE #E B 129 360 93.0
18181 #AH EE # 105 240 81.0 19186 BA BF # 115 31.2 838 20184 JIlis # 130 36.0 94.0
18196 Bl EiEF #0105 240 81.0 19194 B8 XE # 120 36.0 84.0 20194 BE # # 130 36.0 94.0
18206 8RIE EA # 117 36.0 81.0 19204 EgE &= # 114 300 84.0 2020 NEE S # 131 360 950
BRIF EA B 111 300 81.0 10216 &5 B8 B 114 30.0 84.0 202162 4AE FEAN # 131 360 950
18221 HE #H= B 99 180 81.0 19226 N T& # 114 300 84.0 20221 %E BRF # 131 360 950
1823t FH HB # 111 300 81.0 19236 %8 *F #0102 18.0 84.0 2023t hE BRA # 131 36.0 950
1824f Bt # 99 18.0 81.0 10244 B = # 114 300 84.0 20244 RE EE B 132 360 96.0
18256 #ERI BE ¥ 99 180 81.0 192561 /NEE BB= ¥ 120 36.0 84.0 20254 BIE HE ¥ 132 360 960
18266z ILth =X ¥ 105 240 81.0 192617 Bl EE # 102 18.0 84.0 20261z RH ®mA B 132 360 960
18271 B2 F— # 111 300 81.0 19274 k% IEBR ¥ 120 36.0 84.0 20274 B HE # 133 36.0 097.0
1828 HE &X # 99 18.0 81.0 19281 F#M=E £F ¥ 120 36.0 84.0 20284 B\ =% # 133 360 97.0
1829f ZEiE BEE # 105 240 81.0 19204 BBH 7EaA # 120 36.0 84.0 20291 LT Ak ¥ 134 360 980
18301z £ B # 99 180 81.0 19306 ERIE H= ¥ 114 300 84.0 20304 R EF ¥ 134 36.0 98.0
18316 A EF # 117 36.0 81.0 193162 /NIl & # 114 30,0 84.0 20310 P& %% ¥ 132 32.4 99.6
1832 {RiR = # 117 36.0 81.0 19326 &7k BRE # 107 228 84.2 20326 1B2E TE ¥ 136 36.0 100.0
1833f1 i WA # 105 24.0 81.0 10336 b &—ER ¥ 113 288 84.2 2033f (L Eth # 137 36.0 101.0
18346 2 4 # 110 28.8 81.2 19344 /NEE 2F # 119 348 84.2 2034f1 KIF #WIE # 138 36.0 102.0
18356 Rl B= B 104 228 81.2 1035( 2Bk X # 119 348 842 20354 #AL EIF # 138 36.0 102.0
18366 ZM HX # 110 28.8 81.2 193667 RME AR # 113 28.8 84.2 2036f LA BEE B 141 36.0 1050
18374 UM ¥ ¥ 98 168 81.2 19374 #HFE ki # 113 28.8 84.2 20374 O HEE ¥ 142 36.0 106.0
18381z KB 15 # 9% 16.8 81.2 1038 N &R # 106 21.6 84.4 20384z =& ME ¥ 143 36.0 107.0
18394 HFE 13 # 9 16.8 81.2 19394 K& @3 # 112 276 84.4 2039 B 3 B 146 36.0 110.0
1840%1 il EH # 116 348 81.2 19404 #RA BE # 106 21.6 84.4 20404 EHHE # 147 36.0 111.0
18416 £k & # 116 34.8 81.2 10411 k@ B # 118 33.6 684.4 20411z HE WS7K B 148 36.0 112.0
18426 O BS54 # 98 16.8 81.2 19426 #8H Bh B 111 2.4 846 20421 BiE Cav # 151 36.0 1150
18436 uO N\EF # 91 96 814 10436 AFH Bit # 105 204 84.6 20434 Bk B ¥ 173 36.0 137.0
184461 AL 7% # 115 33.6 81.4 10440 HE HiF B 111 264 846 20444 BhA B ¥ 182 36.0 146.0
184561 {£ikE =ER # 91 96 814 19456 STEE @A # 105 20.4 846 NR FiE & 3 0 00 00
1846( =% & # 109 27.6 81.4 104612 /Hk ERE # 111 264 84.6 NR &5 B =3 0 00 00
18471 F3#HME KE # 97 156 81.4 194716 Bk = # 116 31.2 84.8 NR HHE f2— % 0 00 00
1848 tEMA B— # 91 9.6 814 10486 #H 8BE # 110 25.2 84.8 NR /NIl &SEHF % 0 00 00
18491 %5 EE # 91 96 814 19049f 2@ FH # 116 31.2 84.8
18504 38 HE # 97 156 81.4 19506 H| FH— # 115 30.0 850
18516 itk KR=F # 109 27.6 81.4 195161 %8 &E& # 109 240 850
1852 KL —+th # 103 216 81.4 19526 BF EXF # 121 36.0 850
1853f AHE = # 102 204 81.6 19536 KAE B # 121 36.0 850
185441 HiJII Hf2 # 9 14.4 81.6 1954 $F St # 121 360 850
18554 LA & # 108 26.4 81.6 19550 KAMR BE # 121 36.0 850
18566 IRFF BX # 114 32.4 81.6 105612 faiE A # 121 36.0 850
185761 EA R # 108 264 81.6 19574 ol B= # 114 288 852
1858 i #ER # 107 25.2 81.8 10584 LEM 40t # 9 10.8 852
18594 /NE Bk # 9% 13.2 81.8 195941 [ENS #h#st # 120 34.8 852
186061 Kf& # 107 252 81.8 19604 F&E % # 120 34.8 852
186141 Tl ;2 # 95 13.2 81.8 196147 #aA I # 119 33.6 85.4
18626 Kigk & # 112 300 820 19621 BAE f@X # 113 27.6 854
186361 £4K HE # 100 18.0 82.0 196361 mikE == # 113 27.6 854
18641 ARM E5F # 118 36.0 820 196461 =4 A # 101 156 854
18656 Z& AAF # 118 36.0 82.0 196561 F% HKE # 100 14.4 856
18661 A& % # 8 60 820 1966fz 7% Al # 112 26.4 856
18676 JIE &34 B 94 120 82.0 19674 JEER KEBEZ # 106 204 856
18681z Mt BF # 112 300 82.0 1968f /= #RE # 112 264 856
18604 FHMA tig B9 120 820 19694+ B34 # 117 31.2 858
187061 =48 IEf2 # 99 168 822 19704 PR & B 111 252 858
18716 /N2 B— # 111 28.8 822 19716 N2 BT # 111 252 858
18726 #F Sk # 105 22.8 822 19726 BH FEF ¥ 122 360 86.0
18736 BIF #kpE # 105 228 822 19734 kKE SER # 110 240 86.0
18744 /INBFE B #0099 16.8 822 19744 ER &= ¥ 122 360 86.0
187561 WA BE= # 111 288 822 197561 =H HEZ ¥ 9% 96 864
18764 &Il E—ER # 99 16.8 822 197617 =T &%F # 106 19.2 86.8
18774 mMEA BF B 117 348 822 19774 k&K FOE ¥ 123 36.0 87.0
18784 chJIl B5— # 105 228 822 197861 BEIE S ¥ 123 36.0 87.0
18796 BH XE # 116 33.6 824 19796 1818 B ¥ 123 360 87.0
1880% Z EAt # 98 156 82.4 198041 &5 th # 123 360 87.0
188111 mIB HiE # 116 33.6 82.4 108167 O Sk # 115 27.6 87.4
1882 E% f@— # 116 336 824 1982f BHF WY # 115 27.6 87.4
1883 %k = B 104 216 824 19836 FE = # 109 21.6 87.4
18844 =H %+ #0092 96 824 19844 Bl B= # 101 13.2 87.8
18854 HEE i # 110 27.6 824 19854 g% 2 ¥ 124 360 880
1886% FIE JAaE # 104 21.6 824 1986% ARER #iF B 124 360 880
188761 mL 2 # 116 33.6 824 19876 TR iRth B 124 360 880
18881 1BA * # 98 156 824 1088f HEA & #0124 360 880
18894 AM = # 97 144 826 19894 BE —1& ¥ 124 360 88.0
18901 =45 [&F—HR #% 103 20.4 82.6 199042 /iR {BEE ¥ 124 36.0 88.0
18914 Zou Chun # 103 204 82.6 19911 &8 & ¥ 124 36.0 880
1892 {FRE BE B 97 144 826 1992 % E% # 125 36.0 89.0
18934 ik REfE # 91 84 826 19934 LT E#h ¥ 125 36.0 89.0
18944 &7k #nah #0109 26.4 82.6 19944 PUE fEk # 126 36.0 900
18954 itk REF # 103 204 82.6 19956 ARk 12 ¥ 126 36.0 90.0
1806f =18 Z=1T # 103 204 82.6 1996f HMT A4v # 126 36.0 900
18974z HE EL 5 #% 103 20.4 82.6 199741 = HZE ¥ 126 36.0 90.0
1898f1 =5 #E B 103 204 826 19984z JtE Fnig # 119 28.8 90.2
189961 £2 =& # 114 31.2 82.8 19996 #njil £ # 125 34.8 902
19004 M HEE # 114 31.2 82.8 20000 HE =4 # 127 360 91.0
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BAfER : 20214068018 (k) % 1.3.4.5.6.8.13.14.15.16.17. 18

IE & FLLyv—4% GROSS HDCP  NET IE 2 FLAv—% GROSS HDCP  NET IE 2 FL1¥—% GROSS HDCP  NET
B B maE # 78 9.6 684 1016 =58 4kt # 75 3.6 71.4 016 BE AEF # 88 156 724
#HEH BE ®Et # 9 216 684 10261 =iF 2R # 75 3.6 71.4 2021 HRE 3Bt # 88 156 724
M pEA B ¥ 8 204 686 = 2L # 75 3.6 71.4 2034z LA EF #0082 96 724
Mgt BEk # 8 144 686 1046 FNE ERF B92 2.4 71.6 204 EH TE B 82 96 724
bl L EX # 87 180 69.0 1056 AR ZHi # 80 84 71.6 20501 BIE == # 82 96 724
667 Ml AR # 81 120 69.0 1061z @@ @i— # 14 24 71.6 2061 ZERE B # 716 3.6 724
M B%H 82 # 80 10.8 69 2 1074 8 @z B4 24 716 2074 1L)I 83X ¥ 88 156 72.4
8t RNl # 80 10.8 69.2 1084 183 ZHHA % 86 144 71.6 Wil % #0082 96 724
of fEE EE B92 28 692 1094 JEM B # 80 84 71.6 200 =% FE ¥ 82 96 724
10 #48 X K 80 10.8 69.2 11062 /NEFF St i 8 14.4 71.6 21042 /N8 IERA k100 27.6 72.4
1 =% 4l # 80 10.8 69 2 1 Wl Bx B 92 204 71.6 20106 ®E & B 9 216 724
1260 B)I =% ¥92 28 692 IR 5S B 92 2.4 71.6 212 BB & # 82 96 72.4
1360 WE H= ¥ 85 156 69.4 13 =% FHE # 8 144 71.6 2134 R = B 94 216 72.4
146 518 EE # 85 156 69.4 146 §TME = # 80 84 716 2144 /NR R # 88 156 72.4
156 N B # 85 156 69.4 1156 5 BE ¥ 98 26.4 71.6 2150 +/B 2B # 88 156 724
166 A8 & B 90 24 696 11662 /& FNA ¥ 86 144 71.6 2161 FiE B— # 82 96 724
176 it B B 9 24 696 Nt ARE = % 86 144 T71.6 2074 HE B— # 82 96 724
186 BB M #0072 24 69.6 1186 et Fn ¥ 98 2.4 71.6 2184 ZFIL 1R # 100 27.6 72.4
196 =i 22X # 78 8.4 696 1196 Ek #iz # 80 84 71.6 2194 HE Bt # 88 156 72.4
200 BEA B # 89 192 69.8 1206 HH 7 # 80 84 716 2200 K& £ B 82 96 724
210 B B # 89 19.2 69.8 1216 HE A B 98 264 71.6 N &7 @2 ¥ 83 156 72.4
2 WO & # 8 13.2 69.8 1226 1ILE 9 ¥ 98 264 T71.6 202 B #E B 9% 216 724
20 EH EE ¥ 82 120 700 1236 EHMH B ¥ 98 264 71.6 223 AR W= # 88 156 72.4
204 INEE F— # 70 00 700 12461 NE FNE ¥ 92 204 71.6 2445 KIF f@a # 88 156 72.4
250 =3 4 # 76 60 700 1256 SEH HIF ¥ 86 144 T71.6 205 iR E— B 100 27.6 724
26z Il B— ¥ 81 10.8 702 12661 =4 78 # 14 24 71.6 22605 =@ i # 16 36 724
21 KB KE # 87 16.8 702 12761 =58 4kt # 80 84 71.6 2 T BEX # 82 96 724
284 IR fg— # 87 16.8 70.2 1286 O & # 8 132 71.8 208 HAIE A #0082 96 724
29 @M Bt # 75 48 702 1296 TE BEE # 8 132 71.8 200f B i # 93 204 726
0 KIF B # 81 108 702 1304 ILSF Tk # 8 132 71.8 2306 il WS B 87 144 726
3L ERE W # 80 96 704 13162 LA E—ER #® 19 72 71.8 2311% WA ZX ¥ 81 84 726
32t # 86 156 70.4 13261 I § # 8 132 71.8 WA X B 81 84 726
33 HE E8H # 8 156 70.4 133 ZERE A% #0079 7.2 71.8 2330 B {B1f ¥ 87 14.4 72.6
A4 EH (hEH # 86 156 70.4 1346 KiF #0079 72 T71.8 2344 RO ALF ¥ 87 14.4 726
350 BRE BEAER BO92 216 70.4 1356 @l BE # 079 7.2 71.8 2354 M # # 81 84 726
6L =45 E= # 74 36 704 1360 =% B # 19 712 71.8 2360z /INE Bk B 87 144 72.6
3L RO AF # 8 144 706 1374 A R # 8 132 71.8 2 BS A B 87 14.4 726
3Bl FE —EHE #0091 204 706 1386 A $F{= # 91 19.2 T71.8 2384 BT RFIH ¥ 105 32.4 72,6
394 B B # 8 14.4 706 1396 # RRE #0079 72 T71.8 2394 FEE —EE ¥ 87 144 726
4008 HERAK BETF # 103 32.4 706 1406 KB %2 # 8 132 71.8 2000 AT FH#t # 81 84 726
Az W Bx # 79 84 706 1416 L = ¥ 9 72 71.8 EE BHE B 5 24 726
A2 INFE VEH B 91 204 706 1426 #A 17 # 91 19.2 71.8 2021 K WX B 87 14.4 726
13 MBS = # 91 24 706 1436 = 2R #0079 7.2 71.8 2431 Nk SF ¥ 105 32.4 72,6
A BRER EAE # 79 8.4 706 144 =& E= # 73 1.2 71.8 2445 ¥ FHZ ¥ 87 144 72.6
450 WO N\EF # 84 132 708 14561 & Zah # 9 18.0 72.0 2450 {hRE hEE % 81 84 726
4607 B BRER # 90 19.2 70.8 1466 M =% B 96 240 720 246fz AE T ¥ 87 144 726
AT HE Bk # 9 19.2 708 14760 i & # 9 18.0 72.0 2071 BB HEsE # 75 24 726
484 IRE MF B 9% 252 708 14860 5 B # 84 120 720 2484 13 fo— ¥ 87 144 726
494 HE # 84 13.2 70.8 1491 FB EAT # 9 180 720 20901 EE £KTF B 75 24 726
50 ftrep EEk # 84 132 708 1506 BT EEE ¥ 84 120 720 2500 INFE & ¥ 93 204 726
51 HE B ¥ 84 132 708 1516 7 gex # 718 60 72.0 25160 RET BE— ¥ 93 204 72.6
52fi LT EA # 8 132 708 15261 EE X& # 9 18.0 720 2520 EHE FIB ¥ 69 436 72.6
3L At E— % 9% 25.2 70.8 15342 WA EF % 84 12.0 720 25361 EBE HERE B 87 14.4 72.6
bAf KAR H ¥ 78 72 708 1546 Bt BE= # 78 60 72.0 2544 IV B ¥ 87 144 726
5ol FtE K& # 78 7.2 708 155 AHE 7 # 78 6.0 720 2554 TU fiE # 81 84 726
564 EHE tid # 84 13.2 708 HH Z7 ¥ 84 120 720 2560 EAAK W= ¥ 87 144 72.6
57 B Rk B 72 1.2 708 1576 H% THIF # 84 120 720 2574 WA ZEX # 80 7.2 72.8
58l fEARAK BEZ #0102 31.2 708 1584 #WE f2— # 9 18.0 720 2584 UM #RiE ¥ 86 13.2 72.8
bOf FAE AT # 9% 252 708 1596 & B B 84 120 720 2504 B iR # 8 13.2 72.8
604 @il 5 # 8 120 71.0 1606 2 H2A # 9 18.0 720 2601 AR HF— # 80 7.2 72.8
616 ER FER % 8 18.0 71.0 16162 /Mik E=E % 72 0.0 72.0 26140 &) E4 % 92 19.2 72.8
621 FIF Eth # 83 120 71.0 1621 =3 #hatst # 78 60 720 2624 BNl R # 8 132 728
634 HIE KN # 89 180 71.0 163t HE &% # 96 240 720 263f fRE —% # 86 13.2 728
644 /MR BN # 8 120 71.0 1644 (LA %=k # 71 48 72.2 2644 thE & # 86 13.2 728
650 R EF # 71 60 T71.0 1656 A 2 # 83 10.8 72.2 265f )il E= # 86 13.2 72.8
66z BHE 7 # 71 60 71.0 1661z L% =M # 83 10.8 722 2660z 2 B # 86 13.2 72.8
67461 L 2 % 77 6.0 71.0 167 B {£EFF 1% 89 16.8 72.2 26741 A #8A % 80 7.2 72.8
684 A % # 89 180 71.0 16861 WO & #7748 72.2 268f DNA 7% B92 19.2 72.8
694 ERE AR # 77 60 71.0 169tz EAA A ¥ 83 10.8 72.2 2694 HFE 318 # 80 7.2 728
0 ER %A # 8 120 71.0 17042 Ful #0= B89 16.8 722 2704 TRk B # 86 13.2 72.8
T =k B2X ¥ 71 00 71.0 716 % B # 107 348 72.2 2711 kil B ¥ 86 13.2 728
724 ILE EX ¥ 82 10.8 T71.2 17261 8 Bz B 71 48 722 2721 =8 B # 8 13.2 72.8
73 LA & # 82 108 71.2 17361 Bz fg— # 89 16.8 72.2 2734 BB Mz B 74 1.2 728
A TH B # 8 108 71.2 174 BE EE ¥ 83 10.8 722 274 AR WX # 80 7.2 72.8
Tl RiEE E= B9 28 712 1756 ZERE % ¥ 71 48 722 2754 EH EB # 86 13.2 72.8
Tolr =7 == # 82 10.8 71.2 17662 eIl H— # 71 4.8 722 2764z EgkE FEal ¥ 80 7.2 72.8
T FRE B B 94 28 T71.2 17761 m+4 %2 ¥ 89 16.8 72.2 277 thz b &w— B 86 132 72.8
784 ZHEA B9 28 T71.2 17861 =% FHE # 83 10.8 72.2 2784 [EHE &= # 8 7.2 728
794 W0 B2 # 76 48 T71.2 1790 &5 EH B 77 48 72.2 27941 1REE #hi— # 86 13.2 728
804 EE =B # 93 216 71.4 1801 &I B # 83 10.8 72.2 2806 I HiEE # 8 13.2 728
81z Ml B # 87 156 71.4 1811 X %% # 83 10.8 722 BN HEE B 92 19.2 728
82z RO *LF # 81 96 714 1821 Rk B— # 83 10.8 722 2824 B BE— B4 1.2 728
83 EE 5 # 93 216 71.4 1836 F48 T ¥ 89 16.8 722 2834 Fis BE B9 192 728
Al ERE —F B9 216 71.4 1846 #)I ER B 89 16.8 722 2844 KIEE HB—ER B 92 19.2 72.8
85 #MFH KEH e 81 0.6 71.4 1854 ={& A i 171 4.8 72.2 285 HEF f#£— i 86 13.2 72.8
86fz M8 PAE # 15 3.6 71.4 18612 k& Fi= # 83 10.8 72.2 2861 A fEal ¥ 80 7.2 728
R B # 75 3.6 71.4 1874 #MA T ¥ 89 16.8 722 2871 X EF ¥ 86 13.2 728
88 KK & % 87 15.6 71.4 18841 3@ 2= L3 83 10.8 72.2 2884 RN E—ER & 86 13.2 72.8
8Of EE FEE ¥ 87 156 71.4 1894 HiE BN B 89 16.8 722 2894 /2 28 ¥ 8 132 72.8
904 Kith ESB ¥ 81 96 T71.4 1006 =3 4t # 83 10.8 72.2 2004 A = B 98 252 72.8
91 EF FE ¥ 81 96 71.4 = st # 83 10.8 722 201 = H= B 92 19.2 72.8
924 %M 3 # 87 156 71.4 19261 =#& ES ¥ 71 48 722 2924 AHE £7 B 80 7.2 72.8
93 BA mEHt # 87 156 71.4 193 O N\EF # 88 156 72.4 293t M R # 80 7.2 72.8
944 &) FEE # 87 156 71.4 1946 % ERE # 88 156 724 204 #E K& # 80 7.2 728
954 T EA # 81 96 71.4 195(1 #NE {EHF ¥ 82 96 724 2954 [ EHE # 8 13.2 72.8
96f A E—EB # 93 21.6 71.4 1967 RO #LF # 88 156 724 2961z HhE BE— # 86 13.2 72.8
97 BEX HE—ER # 87 156 71.4 19746 WO & # 88 156 72.4 2974 K& 22 B 74 1.2 728
984 BEH & # 87 156 71.4 19861 B%H 2 #0082 96 724 2081 =3E e # 80 7.2 728
991 HH £ L3 87 15.6 71.4 1994 B BiA P 82 9.6 724 2094 fEiE =8 1% 86 13.2 72.8
1006 HhIE fg— # 81 96 71.4 2004 )i B # 88 156 72.4 300 Tk 35 % 86 132 728
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1.5.6.7.8.9.10.11.12.15.16.18
BAfER : 20214068018 (k) % 1.3.4.5.6.8.13.14.15.16.17. 18
IE & FLLyv—4% GROSS HDCP  NET IE 2 FLAv—% GROSS HDCP  NET IE 2 FL1¥—% GROSS HDCP  NET
3014 JEMA # 85 12.0 73.0 = % 83 9.6 73.4 5014 RAE =¥t 87 13.2 73.8
302 WO N\EF 97 24.0 73.0 4021 ES B 89 15.6 73.4 5021 deAt BE 87 13.2 73.8
3034z B B 91 18.0 73.0 4031 IRA E— 89 15.6 73.4 503f K ftz 81 7 73.8
3044 hnwe AL 97 240 73.0 4044 AR WX 83 0.6 73.4 504% 4 BiE 93 19.2 73.8
305f LM EX 85 12.0 73.0 B8R WX 89 15.6 73.4 5054 FRE] HE— 81 7 73.8
3066 Il B 91 18.0 73.0 BR BX 83 9.6 734 506z R HE Jtid 87 13 73.8
307z K BEE 91 18.0 73.0 407 BHE 2% 89 15.6 73.4 5074 JI#E BI—ER 93 19 73.8
3084 AN A 103 30.0 73.0 408z [ BT 95 21.6 73.4 508f: I EX 81 7 73.8
309z kA Fh 91 18.0 73.0 4094 FiF Eth 89 15.6 73.4 509f: JEE 4% 86 12 74.0
306 KB BB 97 240 73.0 A0 2B 4019T 101 27.6 73.4 5100 E8)I B 98 24 74.0
3wl & 85 12.0 73.0 e BE K& 89 15.6 73.4 511z #8E BF 98 24 74.0
Fil 5 85 12.0 73.0 MG K 2 83 9.6 73.4 512 hn Zah 86 12 74.0
3L FHE 2 85 12.0 73.0 M3 ) R 89 15.6 73.4 51347 UM % 86 12 74.0
34l fEE fh— 79 6.0 73.0 ML ER B— 9% 21.6 73 5144 FEHE R 92 18 74.0
3156 K & 79 6.0 73.0 4150 HH THF 83 9.6 73 51502 SO #LF 86 12.0 74.0
3166 & E= 97 240 73.0 461 7% BE 9% 21.6 73 R0 #AF 80 6.0 74.0
T AIE H 85 12.0 73.0 N BE BEE 89 15.6 73. 5174 B B 98 24.0 74.0
BE BAE 79 6.0 73.0 4184 B B 95 21.6 73 51847 /NE EA 92 18.0 74.0
3196 THE Mz 91 18.0 73.0 9% HE BE 89 15.6 73. 5194 Bl B= 98 24.0 74.0
320 EBE BEE 79 6.0 73.0 420 KT 184 89 15.6 73. 520 Bl R 80 6.0 74.0
NI HE BE 85 12.0 73.0 21 WO NEF 88 14.4 73 1 EH & 92 18.0 74.0
3220 KIF 85 12.0 73.0 o N\EF 88 14.4 73 5220 FB IEFT 92 18.0 74.0
K @ 79 6.0 73.0 42345 HE B 88 14.4 73 523 HEE A& 92 18.0 74.0
324 RIE EH 85 12.0 73.0 4245 T B 88 14.4 73 boAf BN %£H 98 24.0 74.0
3250 EO BE 73 0.0 73.0 425( LB R 94 20.4 73 5254 {58k PR 92 18.0 74.0
32662 LT AT 97 240 73.0 4261 1A BEE 88 14.4 73 526f% 28R BAIL 80 6.0 74.0
327 JIIE 215 79 6.0 73.0 21 B B 88 14.4 73 57 =E & 74 0.0 740
3284 HIE =4 91 18.0 73.0 42815 BB %F 94 204 73 5284 AT H 86 12.0 74.0
329 AHE £7 79 6.0 73.0 4294 TEE B 88 1 73. 520f f8A X 86 12.0 74.0
HH %7 79 6.0 73.0 4304 J\K ZEFD 94 2 73. 530 EF Ed 92 18.0 74.0
HH Z7 79 6.0 730 31 2£H EX 82 73. 531 EH B2 86 12.0 74.0
3820z M KRE 91 18.0 73.0 4320 i R 82 73. 532 By EE 98 24.0 74.0
MR KE 91 18.0 73.0 IR 82 73 533f #IR HTF 922 18 74.0
3344 W RRE 85 12.0 73.0 4344 hE B 94 2 73. 5344 FIE E— 86 12 74.0
®ORE 73 0.0 73.0 435f FH EFF 76 73 535f  AHHY FEHE 92 18 74.0
3366z Il E5% 79 6.0 73.0 36 =3 BR 94 2 73. 536f: 1E% B 80 6 74.0
3374 PRER EfE 85 12.0 73.0 437 LIS Rt 82 73 5374 EF FE 92 18 74.0
338l A Ko 85 12.0 73.0 4384 FE+E BE 88 1 73. 538f: FAE Hth 922 18 74.0
3394 FEE =7 85 12.0 73.0 4394 /A E— 88 1 73. 53 HE B 86 12 74.0
3404 ZHE = 85 12.0 73.0 4400 KE HEA 82 73 5404 4% IE 86 12 74.0
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364461 LUE FHE 84 10 13.2 4644 ERAK BEZ 13. 56411 ifEE REF 98 74.0
36541 ¥y H— 18 4 13.2 46541 /FE EE 82 13 565fu FH HE 98 74.0
3664 )G #hE] 9 16 13.2 466461 JEH #= 81 13 566 KE E— 92 74.0
676 = IEE 18 4 13.2 46741 fiE E=H 93 19. 13. 5671 /A B 80 74.0
36861 R f— 9 16 13.2 46841 F BT 93 19. 13. 56841 ZAJK IEE 98 2 74.0
36961 &)1 #HER 96 22 13.2 46961 & 1R 81 1 13 56961 &% &=L 80 74.0

BN #REE 84 10 13.2 47061 FHHE R 93 19. 13. 570 iy £ 80 74.0
SNEL B A 9 16 13.2 4N RB/N RF 87 13. 13. R 80 74.0
324 wxF EHHE 102 28 13.2 47261 & & 93 19. 13. 572 HF 97 2 14.2
3L BT EAT 84 10 13.2 47365 #rE M 81 1 13. 57361 M@ —C 109 3 14.2
STAGL 1Rk F1T 90 16 13.2 47461 BH #FE 87 13. 13. S5TAfL /M F— 91 1 74.2
375{u4 HH Mt 90 16 13.2 47561 A% R— 87 13. 13. 575 RE# %R 97 2 14.2
3766 X =& 84 10 13.2 47661 MMEX —1T 93 19 13. 57661 HH 55 103 2 74.2
37T XX E—ER 84 10 13.2 47761 T BER 81 7 13. S5TThL & Rl 85 1 14.2
37186 KA B 90 16 13.2 47861 = & 87 13 13. 57861 RO #LF 85 1 14.2
371961 fhHt BE— 90 16 13.2 =# R 87 13 13. 57961 WA & 86 1 74.2
3804 &K fillz 18 4 13.2 4804 AIE E 87 13 13. 58061 FHIII K 19 74.2
38161 e /¥ 78 4 13.2 481461 a[Er FHi 87 13 13. 58161 +¥H # 19 74.2
38261 HE EF 90 16 13.2 48261 BH B— 87 13 73. HE M 19 14.2
38361 K4 KER 96 22 13.2 48361 1| —% 81 7 13. 5831 HF ARXK 91 1 14.2
3844y ZEEk M 8 4 13.2 48461 AR B 87 13 13. 5841 KB BR 91 16 14.2
38561 #)Il =58 84 10 13.2 AR X 99 25 13. 5854 TiE =HI 91 16. 74.2
3866 JKEF f%EA 84 10 13.2 486 AH IET 93 19 13. 58661 thHEH & 91 16 14.2
387461 RLH BASA 96 22 13.2 48161 SH EF 87 13 13. 58761 FRJII —ER 91 16 14.2
388f PR EfE 90 16 13.2 4884 Fruy 53 99 25 13. 58861 X% —F 97 22 14.2
389G ERH SEH 84 10 13.2 48961 FxZHE FHR 87 13 13. 5801 1Bl —3 9 4 14.2
390f1 K15 B— 90 16 13.2 49061 HE E# 87 13 13. 50061 #HF EX 97 22 14.2
916 FRH 2 18 4 13.2 491461 #ZH Efh 87 13 13. 5016 #FHHE ik 19 4 14.2
392 EhEF EZ 12+ 13.2 49261 ZFE[R E5h 87 13 13. 59261 {ERE iR 85 10 14.2
3931 EH = 7 3 13.4 49361 AIF Eth 93 19 73. £k thim 85 10 14.2
39461 F R 95 21 13.4 49401 fEE X 87 13 13. 50461 A RF 91 16 14.2
3954 LA EX 17 3 13.4 4951 RE X 105 31 13. 50561 HA B 85 10 14.2
39661 B {EMF 95 21 13.4 4966 HIR FER 87 13 13. 5066 =7F = 9 4 14.2
7ML & & 89 15 73.4 49761 KIE HXF 87 13 13. 59T 1S &AL 85 10 14.2

73.4 4984 HIMH FRZ
73.4 [FUEC = St
73.4 5001 P E—EB

398 A *LF
399 RBie &
4001 =i &

59861 R EM
50061 REHN WE
600fi MR F—HR
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IE & FLLyv—4% GROSS HDCP  NET IE 2 FLAv—% GROSS HDCP  NET IE 2 FL1¥—% GROSS HDCP  NET
601z /= =2 ¥ 8 10.8 742 1016 S AR # 95 204 746 801 i EX # 75 00 750
60261 KJIE #22 #0097 28 742 7024 #BE FNHE ¥ 8 8.4 746 8021 JEME 4 ¥ 8 108 752
6034 ik 18 # 91 16.8 742 7034 A £F #1001 264 746 803z WO NEF # 92 168 752
604f /NE EE # 8 108 742 7044 KL B89 14.4 746 8044z il &% B 92 168 752
6054 # .t K # 79 48 742 70544 AL IE—ER # 9 2.4 746 8054 kil ahA B 98 228 752
606f; ESD = B 97 2.8 742 7066 &I FEth ¥ 83 8.4 746 8061z B EE B 92 16.8 752
6074 KR%N FAHE # 8 108 742 7074 Ek fz ¥ 8 8.4 746 8074 fhRE M= # 98 228 752
6084 /N FNE # 91 16.8 74.2 7084 D B/E # 83 84 746 808{z FNE {EMTF # 86 10.8 75.2
INE B # 8 10.8 742 7094 LA ZERL B89 14.4 746 8094 JIAT B B 92 168 752
6106 M3 PR # 91 168 742 71046 #8iL & % 83 8.4 746 810/ SO #LF # 8 108 752
6114 &Rl Bk # 719 48 742 T B Bk ¥ 89 144 746 8114 FEa LLF ¥ 92 16.8 752
6120 %ith BN # 103 28.8 74.2 124z INEE BEA ¥ 89 144 746 812t BB %#F B 92 168 752
6134z HE g # 91 16.8 742 71342 ASI EF B9 204 746 8134 T R #0092 168 752
614f HIE FIik B3 1.2 742 TAf 2 F2h ¥ 89 144 746 8144 B #MX ¥ 92 16.8 752
615 =T fi— # 103 288 74.2 7156 BA == ¥ 9 2.4 746 8154 LA B 98 28 752
616fz % BE # 8 108 742 7164z ®E B ¥ 89 144 746 816z thE M= B 92 16.8 752
6176 2% 2B # 8 108 742 N X8 HE B89 144 746 8171 H#5 1B B 92 168 752
6184 T EX #0079 48 742 7184 FFEE Hah ¥ 9 24 746 818tz HH Eh # 80 48 752
619f & i B 84 96 744 7196 B B B 95 204 746 8194 i BARE # 80 48 752
6204 1AE BF # 96 216 744 7204 KiF fEE ¥# 8 84 746 8201 KR B 92 168 752
62161 etk =B ¥ 84 96 744 7216 Ax B ¥ 9 204 746 8211 1&IIl —3% ¥ 92 16.8 752
6221 EHR 3 B 9% 216 744 7220 =3 A % 71 24 746 8221 BA WX # 86 108 752
623f Il BT # 90 156 74.4 7234 H EFE ¥ 101 264 746 823f M BE% # 86 108 752
624f It Bk # 84 96 744 7244 i 2 # 83 84 746 824f LA f& # 86 10.8 752
625f A& FIB # 90 156 74.4 72548 B — B 94 19.2 748 8254 1£E = # 80 48 752
6261 FiE =FA ¥ 90 156 74.4 7266 R 3hdk # 100 252 74.8 826fz 1£18 @t # 86 10.8 752
6276 BN A # 90 156 74.4 721 R0 AF ¥ 82 7.2 748 8274 £ EME # 98 228 752
BN B 9 21.6 74.4 20O #LF ¥ 88 132 748 8281 WHE HEk B 92 16.8 752

6204 K15 Bi% # 9 156 74.4 20O #LF # 88 132 748 820f BN = # 80 4.8 752
630% Il 1 # 78 3.6 744 7306 B P B 94 19.2 748 8304z HA & B 92 16.8 752
6314 &k % ¥ 84 96 744 B B B 94 192 74.8 8311 MM E ¥ 98 228 752
6321 TE —&E B 9% 216 744 7320 FE E— # 88 132 748 8321 Tk & # 86 10.8 75.2
6334 AT ERE B9 156 74.4 7334 EE FEF B 88 132 74.8 833 B FEZ= # 86 10.8 75.2
634f HME i # 9 156 74.4 7344 (FiE & # 88 132 748 8344 KIEE HB—ER B 92 16.8 752
6356 Rl BF B 102 276 744 7356 hE & # 88 132 748 8354 EEL i # 86 10.8 752
6360 18 Bz # 18 3.6 74.4 7366 Rt EMAE # 88 13.2 74.8 836% =/l E—ER B 98 228 752
63741 &)1l —% ¥ 9 156 74.4 B AHT % ¥ 82 72 748 &L E—ER # 104 28.8 752
638 faK WX ¥ 84 96 744 7384 RiEE B 82 72 748 838f Ek fz # 80 4.8 752
BA BX # 78 3.6 744 7306 Il iz B 9% 192 748 8394z AHHE 7 # 80 4.8 752

BA X # 78 36 744 74060 EE = # 88 13.2 748 8404z F.t FRE B 92 16.8 752
6410 gEZ B # 84 96 744 TAGL HE AR # 82 7.2 748 841fz IUA FEX B 98 228 752
64201 43 EF # 90 156 74.4 M6 = B # 94 19.2 748 8424 1O ¥E— B 92 168 752
6434 HEA = # 8 96 744 7434 EERE B # 76 1.2 748 843f: BHE EfE # 92 16.8 752
644 ZERE E= ¥ 84 96 744 1AM 1REE W ¥ 8 132 748 BAAfE #k FRE ¥ 74 412 752
6454 |LUEA 2% B 90 156 74.4 7456 TR B # 0 8 7.2 748 8454 EE THIF # 86 108 752
646fz LA EH ¥ 9 156 74.4 7467 BE FA ¥ 9% 192 748 846 BA B # 98 228 752
6474 B EF ¥ 9 156 74.4 TATHL AN $EE #9192 748 84T SH RIK # 98 228 752
B ®F # 9 156 74.4 74841 tEFH 27— # 88 13.2 748 848l En HE # 8 10.8 752
6494 fhE E|F # 9 156 74.4 7490 EERE E B 9% 192 748 8494 hE HE B 98 228 752
6504 1EEA B— # 90 156 74.4 7506 B R # 88 13.2 748 850 BA == # 86 10.8 752
6511z KIEE #H—EB # 90 156 74.4 751 Bk iz # 88 13.2 74.8 851w #EA SEH B 92 16.8 752
KIEE #H—ER # 90 156 74.4 7524 KET BREE # 88 13.2 748 852 O &z # 8 10.8 75.2
6534 1EE #H#F B 9% 216 744 7534 18 &= #9192 748 853 HEH fh— # 8 108 752
6544 T EME #0102 27.6 744 1544 ik EEA B 9% 192 748 854f HE B # 8 108 752
6554 B E—ER K 84 9.6 74.4 155461 FtE K& e 82 7.2 74.8 855 MLt #% 110 34.8 75.2
BY = # 84 96 744 7564z MR f2— # 82 7.2 748 856f |Uth =IF # 92 16.8 752
6574 EIE EE ¥ 9 156 74.4 1574 BN B #8 7.2 748 8571 B & B 92 16.8 752
658f 0 EB|E # 78 3.6 744 7584 TEEE st #9192 748 8584 T/ BR ¥ 98 28 752
659f M4 B # 90 156 74.4 7596 KEF TR # 88 13.2 748 8594 Ei BT B 92 168 752
660% {FiE B— # 90 156 74.4 7604 TR &Kk # 106 31.2 74.8 8604 HH ES # 86 108 752
6611z 1A B # 96 216 744 1612 = %5 # 88 13.2 748 8611z AME EX # 92 16.8 752
6621 B 1= # 78 3.6 744 7620 JEME 4 # 81 60 750 862 EA)I| B # 103 27.6 75.4
663f P FLAR # 84 96 744 7634 thit EE # 93 180 750 8631 FIR Toff B 97 216 754
6641 BT B # 84 96 744 764% B —% # 93 180 750 8644 Rl F=EA # 103 276 754
6654 M f— # 90 156 74.4 7656 B3 1 # 87 120 750 8650 WA NEF # 91 156 75.4
6661z EEEH # 102 27.6 74.4 766(% B 52 B 99 240 750 866f ik =B # 91 156 75.4
6674 BHH EE B 9 156 74.4 767 GH EB #0099 240 750 8674 2 BN # 97 216 754
6684 WO NEF B 80 144 746 7681z AR BBF #0099 240 750 868 Ak ¥ # 109 336 754
669% 2B & # 89 14.4 746 7694 B i # 87 120 750 8694 ILUEA X # 079 3.6 754
670z (LM ®ExX # 71 24 T46 7106 BB %F B 93 180 750 8704 hek T # 91 156 75.4
MEREES # 83 8.4 746 Tz KB B # 81 60 750 871 /INFA FE— # 8 96 754

6721 NIkt &% ¥ 89 144 746 T2 E#E =7 # 87 120 750 8726 fF®E ihEk # 91 156 75.4
673 FIF == B 89 144 746 773 Rl — 5 # 93 180 750 873 i #F # 103 27.6 754
6741 B &H # 89 14.4 746 774 \LSF Tk # 87 120 750 874 B iBif # 8 96 754
6754 TA KIE # 89 144 746 775 TE & # 93 180 750 B g # 91 156 754
676 TE EE ¥ 83 84 746 71662 #ot BRE B 93 180 750 876f &I A B 97 216 754
6774 K15 Bi ¥ 89 144 746 TTME = & # 81 60 750 8174 1E1R # B 97 216 754
6781 Rl #®E # 101 264 746 7184 KK £E # 81 60 750 8784 EK BE— B 97 216 754
6794 ®E A # 95 204 746 7194 & FEHE # 111 360 750 8794 J\A ZEAD # 91 156 754
680f H& HiA # 83 84 746 780% EE B # 87 120 750 8801 WE fHEA # 91 156 754
6811 £ TART # 80 144 746 8 EE B # 81 60 750 881 Ml —=m B# 91 156 754
6821 ERE BT ¥ 89 144 746 1820 IERE —& # 111 360 750 8821 #3F ¥ 97 216 754
6834 thE f& B 89 144 746 7834 ME E # 93 180 750 8834 LLSF Tk # 91 156 754
6844 ED 1 # 89 144 746 T8AfL thRE thEE # 81 60 750 884% I 1B # 8 96 754
6854 AMH = # 101 264 746 7850 =% FE # 81 60 750 8854 /NFFE 1818 # 97 216 754
6861z Ht+m BE ¥ 83 84 746 7861 T EE B 99 240 750 886% InE E— B 97 21.6 754
6874 AT FH#t # 83 84 746 187 B8 ER B 99 240 750 8874 I # 91 156 754
6881 HE B # 101 264 746 7881 RLE # 93 180 750 888l = = # 8 96 754
6804 &Il —3k # 83 84 746 g % # 87 120 750 889f KT IE # 91 156 754
6904 BA WX ¥ 89 144 746 7904 A B— # 87 120 750 8901 #AK WX # 91 156 754
6911 M3 HEAX # 83 8.4 746 916 RE BEB B 99 240 750 801 M= FT= B 91 156 754
6921 FIF Eth # 83 84 746 7920 KB ME # 105 30,0 750 8921 S E=F B 97 216 754
AiF Eth # 83 84 746 7934 HHE 7 # 81 60 750 893f: FFIE L # 103 276 754
6944 HIE FHE # 101 264 746 7944 i HE B 99 240 750 841 £k = # 91 156 75.4
695f FE & # 95 204 746 79561 #RA # 81 60 750 895 TR — # 91 156 754
6961 IAF Eib ¥ 89 144 746 7964 HH £ # 93 180 750 8961z ZHME =t # 8 96 754
6971 BA mEHt # 95 204 746 1976 R AR B 99 240 750 8974 FEE HE(E # 91 156 75.4
6984 =B & # 83 84 746 798t KB 2 # 87 120 750 8984 A FIE # 91 156 754
6994 /MR BN B 71 2.4 746 7994 Lt # 93 180 750 8994 ARE M # 91 156 75.4
7004 1EE B— #1001 26.4 746 8004 JIlO Hih # 93 180 750 9004 S48 BE B 97 216 754
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IE & FLLyv—4% GROSS HDCP  NET IE 2 FLAv—% GROSS HDCP  NET IE 2 FL1¥—% GROSS HDCP  NET
9014z LIl 183X # 91 156 754 100162 Bk MY # 101 252 758 11014 BT EmE B9 228 762
9021 1hRE #HEH # 79 3.6 754 1002tz HiE E # 89 132 758 1102t B8 &% B 93 168 762
903fz /NE IEEA # 8 96 754 1003t i # B 9 19.2 758 11036 /Mt BB # 105 28.8 762
9044z NE BLF # 91 156 754 10044 EfT 35 B 101 252 758 110462 /NE EMH # 87 108 762
905 =FH % # 79 36 754 10050 #83# Sk # 89 13.2 758 110561 &#& Wt # 93 168 762
9061z A T # 91 156 754 #H BEX # 9 19.2 758 11066z LT EA B 99 228 762
9076 BEA mEit ¥ 8 96 754 10074 /NEFEA E— # 101 252 758 11076 #1438 FI42 #9168 762
9084z HE == ¥ 91 156 75.4 1008 £F F0E # 89 132 75.8 11084 MME == B 99 28 762
909 B H#A # 91 156 75.4 10094 HiE = # 89 13.2 758 11091 BEE %5 B9 28 762
91041 B BE= # 91 156 754 10106 ZEiE B % 77 1.2 758 111062 A/ A # 87 108 762
911fz BR %= ¥ 97 216 754 1011tz M8 == # 9 19.2 758 i HIl EE ¥ 93 16.8 76.2
9124 /& FIR #0079 36 754 10126 AIF Eth # 8 7.2 758 1126 183 #2— B 93 16.8 762
9134 KA IEFE # 97 216 754 10136 {4k FE B 9% 19.2 758 11136 AR Bk # 81 48 762
9144 183 fo— # 91 156 75.4 10144 448 BE # 101 252 758 1146 BiE £4 # 87 10.8 76.2
9154 i HE ¥ 91 156 754 101561 KT &5 # 9 19.2 758 111561 fhit BE— # 87 108 762
916/ =% EMEE # 103 27.6 754 101667 =8 &M # 101 252 758 11166z L Eth # 81 48 762
9174z B T # 103 276 754 10176 && B # 89 13.2 758 M7 Bk iz # 87 10.8 76.2
9184z kO Ef ¥ 97 216 754 10186 BRIl 1% # 8 7.2 758 11186 K mF # 87 10.8 762
9194 HiE HEH #0097 216 754 10196 44 #H— # 101 252 758 11196 #)1 B # 87 10.8 76.2
9204 LA £= ¥ 91 156 754 10204 BikE BE= # 71 1.2 758 11206 L & B9 28 762
92147 3% fE— ¥ 8 96 754 10216 #BH #&— B 89 13.2 758 216 k& =% # 87 10.8 76.2
9221 FiE EH # 103 276 754 10224 5@ #F # 9 19.2 758 11226 %A BF B 99 228 762
9234 KR8 B # 97 216 754 10231 X H—EB 77 1.2 758 11234 FMA #03h # 93 16.8 762
9244 A #H= ¥ 91 156 75.4 10246z +E 288 # 89 132 758 11244 2@ it #0999 28 762
9250 K43 AR B 97 216 754 10256 #E =F # 107 31.2 758 112561 501l AER # 81 48 762
9260 AhIER f2— # 8 96 754 10266 HK fz # 89 13.2 758 112661 2 S29r ¥ 93 16.8 762
927 FFH HE # 91 156 754 10274 #RiE HBE # 101 252 758 M =4 5= # 87 10.8 76.2
9284 HH iz # 91 156 754 102861 MIFt =t ¥ 89 132 758 11286 =1F {IE # 87 10.8 76.2
9294 I A # 97 216 754 10201z #E Kt # 83 7.2 758 11206 =g £ # 93 16.8 762
9304 Lh EFT # 8 96 754 1030tz E® SIHF # 9 19.2 758 11306 B #12 B 93 16.8 762
931z BE FIE B 73 +2.4 754 103162 sl ZE—&R # 89 132 758 11316z LG BEF B 99 228 762
9321 AHHE BE # 91 156 754 10326 /& FIE # 89 132 758 1326 W & B 93 16.8 762
933 EIE E— ¥ 79 36 754 103342 B fRAER # 8 72 758 1336 KiF @7 ¥ O75 +1.2 762
9344 il WE # 90 14.4 756 10340 B 2 # 9% 192 758 113461 FKA #—ER ¥ 87 10.8 76.2
935 UM % # 8 84 756 1035f HIE {28 ¥ 89 132 758 11350 eIl BEk B9 216 764
936 = Bl # 90 14.4 756 10366 ik K=F # 107 31.2 758 11366z A &M B 92 156 1764
937z RO AF # 84 84 756 10374 1341 f— # 9 19.2 758 1376z %3l # 86 96 764
938 {EAR Hift # 78 24 756 10384 LM EF # 9 19.2 758 138 RO B B 98 216 764
9394 AN A # 9 204 756 10391 wh#t iR # 9% 192 758 11304 A #x ¥ 104 276 76.4
940% B B # 9 204 756 104047 Hh &R # 101 252 75.8 11406 =H B B 92 156 764
B B # 102 26.4 756 10416 mf = # 89 13.2 758 11416 & h%k # 92 156 764
9421 B ¥ B 90 144 756 10826 =i 2L # 77 1.2 758 M4 5 & # 86 96 764
943 {hRE =ER # 9 14.4 756 104361 =48 E= # 8 72 758 11436 BiR 17— # 8 96 764
944 B = # 9 204 756 10441 et =B # 100 240 76.0 1445 =45 Efg ¥ 98 216 764
9454 B # # 9 204 756 10456 2BE A8 # 9% 180 76.0 1145 EiE 5 ¥ 104 276 76.4
9461z TR XIE # 84 84 756 104612 2 &=or ¥ 94 180 760 1146 E8I E£F # 92 156 1764
04T ER =k # 84 84 756 10476 RO B # 100 24.0 76.0 11476 1A =8 B 92 156 76.4
948 E8R BAIL B 90 144 756 RO B # 100 24.0 76.0 114861 ¥ ZK # 9 216 764
9494 D 1 # 9 204 756 104961 JIlAt &% # 8 120 760 11496 76 —&% ¥ 9 216 764
9504 EA& B # 78 24 756 10504 FE B # 8 60 760 11506z FRiE & % 104 27.6 764
95141 A BH— # 90 14.4 756 10514 N iE # 82 60 760 11511 AlE &#hF ¥ 104 27.6 76.4
9524 AIE FH#t # 84 84 756 10524 +@& =F # 8 120 76.0 1152 &3 Sk B 98 21.6 76.4
A H # 84 84 756 1053 E&N #F # 100 24.0 76.0 11536 &M@ #i— # 80 36 764
9544 HHE # # 84 84 756 10544 &K st B 9% 180 760 11546 &0 & B 92 156 764
9550 /NIl KJ\ # 90 144 756 105561 % {HER # 9% 180 76.0 115561 #tll % # 8 96 764
9561 EFpiE EE # 90 14.4 756 10561 Ak BUR ¥ 88 120 760 115662 A Ea # 98 21.6 764
9574 BF —EB ¥ 9 144 756 10574 1LSF w3k # 8 60 760 1574 BE B # 86 96 764
958% KB B ¥ 9 144 756 105841 #reh BEk # 82 60 760 115861 BT MR B 9% 216 764
959f: A1l FIR # 9 204 756 1059f1 AE = # 106 300 76.0 11596 KB 15 B 92 156 764
960 =% FE # 8 84 756 10606 %S B # 82 60 760 11602 B BE # 92 156 76.4
9611z ERk W= # 102 26.4 756 106162 BA =& # 112 36.0 76.0 1161z F/iE =t # 92 156 76.4
9621 1258 ERL #0102 2.4 756 10621 #HE K # 100 240 76.0 11626 AL %A # 86 96 764
9631 ZERE BT # 90 144 756 10634 &)1 —* # 82 60 760 1163 =% FH&E # 86 96 764
9644 KIEE #H—ER # 108 32.4 756 10644 EM B # 88 120 76.0 116461 /NE EMH B 92 156 764
965%; AME #HF # 8 84 756 10654 #% @ F # 112 36.0 76.0 1165( TEAH s # 98 216 764
AB %HF ¥ 9 204 756 106667 15 &%= # 100 240 760 1166 IO & % 104 27.6 1764
9671 D BE # 84 84 756 10674 HRE BH # 100 240 76.0 11674 &% BF # 98 216 764
9684 FiE = ¥ 9 144 756 1068f iR [ ¥ 94 180 76.0 116861 3 #£— B 92 156 76.4
9691 #JIl BT ¥ 9 144 756 10694 &)1 %HEE ¥ 88 120 76.0 116961 Nl EF # 8 96 764
9704 47 HH # 9 2.4 756 10704 K4EE #H—ER B 94 180 76.0 11706 W1l =& % 80 36 764
9711z ta=E Mith # 18 24 756 10716 % BF # 94 180 76.0 716 =2R & # 98 21.6 764
9721 KW B # 84 84 756 107261 = 1T # 8 60 760 N2tz 148 @R # 9 216 764
9734 Bl Bk # 90 14.4 756 10736 B+t B # 88 120 76.0 11736 EEh = B 92 156 76.4
9744 KF K—ER # 9 14.4 756 10746 FEE R&T ¥ 9 180 76.0 1746 % Fn B 92 156 764
975%: BME EBA # 90 14.4 756 10756 Ik EZE B 94 180 76.0 1756 fhit BE— % 8 96 764
9761z KIF A # 84 84 756 1076fz AH #¥ ¥ 88 120 1760 11766 #5 Ean ¥ 92 156 764
977 MR BB #0102 264 756 10774 HE #7 # 88 120 76.0 NI A E—EB B 92 156 764
9784 JIlE H= # 90 144 756 10781z KB & ¥ 9 180 76.0 N786L # FBF B 98 216 764
9794 £F B # 9 14.4 756 10796 Kt #— ¥ 8 120 76.0 1796 N FNE B 92 156 764
980t HME EXE # 9 204 756 108061 /& FIE # 94 180 76.0 1180 ALt RHEER B 92 156 764
981t wmE = # 90 14.4 756 1081 B %k # 88 120 76.0 11816 A = B 92 156 764
9824 /K (4B ¥ 102 264 756 1082 /it BE— # 106 30.0 76.0 118261 K #F ¥ 104 276 76.4
9834k JEM 4 # 83 7.2 758 10836 =i o # 88 120 76.0 1836 FHl HE— B 92 156 764
984f HE BF # 101 25.2 758 10844 R = # 106 300 76.0 11844 12341 f— B 92 156 764
9854 |LE X # 89 13.2 758 10856 k3t 1E4 # 94 180 76.0 11854 LIl #AIE # 104 276 76.4
986z KIF nE # 101 25.2 758 10861z F%H &2 B 100 240 760 11861 #aA =i B 92 156 764
9874 B fi2— # 9 19.2 758 10876 B ik # 93 16.8 76.2 11876 k&K H= # 86 96 764
9884 AR 1EIE # 101 25.2 758 10884 & & # 93 16.8 76.2 11884 =48 £/ B 92 156 764
989f A [BF # 95 19.2 758 10891 ek =3 B 93 16.8 762 118961 24 #h # 98 21.6 764
9904z FIB EMTF # 89 13.2 758 10006 BH =F B 99 228 762 11906 7Bk 9 # 8 96 764
B EmT # 89 13.2 1758 10016 2 & # 87 10.8 1762 o1 EME & % 68 84 766

HEB ENF # 89 13.2 758 1092tz FHIl BEIE # 87 10.8 76.2 1926 O NEF B 91 144 766
9934 KB EEF # 89 132 758 10034 1O & # 87 10.8 76.2 Lo NEF B 91 144 766
994f K B # 89 13.2 758 10944 &K s # 87 108 762 11944 #HE BF # 103 264 76.6
9954 FHE KR # 95 192 758 10956 PHE B= # 81 48 762 HE BT # 103 264 76.6
996fr KB BB # 9 19.2 758 1006( & BE # 93 16.8 762 11966 Il BX ¥ 97 204 766
99741 Il # 77 1.2 758 10976 £ FEF # 93 16.8 76.2 1976 # —% ¥ 91 144 766
998 TR —&E B 9 19.2 758 1098f BEE A # 93 16.8 762 119861 #& {EMF B 9 144 766
999f XFH —th # 89 13.2 75.8 1099tz SFE # 93 168 762 199 RO #F # 91 144 766
10004 3% B= ¥ 9 19.2 758 11004 M@ {& # 93 16.8 76.2 12004 1O & B 91 144 766
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IE & FLLyv—4% GROSS HDCP  NET IE 2 FLAv—% GROSS HDCP  NET IE 2 FL1¥—% GROSS HDCP  NET
12014 BH HE B 97 204 766 130162 /M1l WEFEH # 9 180 77.0 14016 mMES = B9 216 77.4
1202 168 =ER # 97 204 766 13021 %I B E # 101 240 77.0 14026 FE RHEER ¥ 105 276 77.4
1203t Rl = # 97 204 766 1303tz &F TF # 101 240 77.0 14036 # Z=F # 105 27.6 77.4
12046 K& BB B 9 144 766 13044 FEE SE1T B 9 180 77.0 14046 #F)I W B 99 216 77.4
12056 EME BT B 97 204 766 13056 JEM B4 ¥ 89 120 77.0 140561 A i ¥ 99 216 7.4
B BT ¥ 9l 144 766 13061z ek REF # 113 36.0 77.0 14061z A BF B 99 216 77.4

120742 F& EAT ¥ 91 144 766 13074 1LEE S% # 101 240 77.0 14074 #£RAK = # 87 9.6 7.4
1208 Rk 2 ¥ 91 144 766 13081 KB ZZ # 8 60 7.0 14084 fEtE MEdE B 111 336 7.4
12094z % #ngl # 103 26.4 76.6 13091z AE W # 113 36.0 77.0 14094 EM # # 8 84 716
12104 ®AT B # 8 84 766 13106 NBE &2 # 9 180 77.0 141062 71 3R # 110 32.4 771.6
12116 k& B # 103 264 76.6 1311tz LT &KX # 113 36.0 77.0 4116 WiE =8 B 92 144 776
12120 ¥ARE 1% # 8 84 766 13126 EB) BX ¥ 94 16.8 77.2 w026 Bz &5 # 98 204 7.6
12136 MR & # 97 204 766 13136 e =3 B 100 22.8 772 14136 AR 17— # 0 9 24 77.6
12146 FHE) & ¥ 91 144 766 13146 B %L B9 168 772 14146 RE #X ¥ 092 144 716
12166 BE BEE # 91 144 766 13156 A 8 B 94 168 71.2 14156 EMH B 92 144 716
1216f LA &2 ¥ 19 24 766 13166z F& 8hk ¥ 94 16.8 77.2 14166z ®L B= # 104 264 77.6
1217 &8 #F B 97 204 766 131761 =#& Ef # 94 168 77.2 4176w —&E B 92 144 7716
1218z FMA #th # 9 144 766 13181z TE HEH # 88 108 77.2 141861 ME IER # 104 264 77.6
12196 ZERE & # 103 26.4 76.6 13196 Kig B # 88 108 77.2 14194 BT EfE ¥ 92 144 776
12206 HE B # 8 84 766 13206 &k =— ¥ 100 228 77.2 1420 Bk Y B 104 264 716
122161 =B WF ¥ 97 204 766 132117 ®& {REA B 9 168 77.2 14216 FH BE ¥ 92 144 71.6
12226 %8 #it B 109 32.4 766 13226 Bl 5 # 88 10.8 77.2 142261 KR BEA ¥ 98 204 77.6
1223 BFE AF # 97 204 766 13236 #ME @213 ¥ 106 28.8 77.2 1423 EHM FEt # 110 324 77.6
12244 FEE #E # 103 264 76.6 13244 {47k BB # 100 228 77.2 14246 548 BHE ¥ 92 144 7.6
12256 RRE £F B 97 204 766 132561 (L& Bth ¥ 82 48 7.2 14250 (R $i— BO92 144 776
12260 ROE 2 ¥ 91 144 766 13261 JBE & # 100 22.8 77.2 182667 #FE 5 # 80 24 77.6
122712 Nl #E B 91 144 766 13276 248 B # 8 10.8 77.2 142761 %t EE B 98 204 77.6
1228 =L E—ER # 91 144 766 1328t E& # # 88 108 77.2 142861 +=fr FIiT ¥ 98 204 77.6
12201 W% 2= # 9 144 766 13291 &)1l —% # 82 48 7.2 142911 FRE 23EA B 98 204 77.6
123062 /it BA # 9 144 766 13306 Bpig s #0100 228 77.2 1430z +2= SE B9 144 716
12316 B & ¥ 97 204 766 13311 %8 BEF # 100 22.8 77.2 14316 B2 41T ¥ 98 20.4 776
123260 MR KE B 9 144 766 1332 KB 18 # 88 10.8 77.2 14321 K% BAE B 104 264 776
1233 HMHE £ # 91 144 766 13336 F FNE # 88 108 77.2 14336 INE E— ¥ 9 204 77.6
12346 H%H STHRIF # 8 84 766 13346 K A B 9% 168 77.2 143461 MA & # 104 26.4 77.6
12350 RE RBAS # 103 264 76.6 1335f1 kK &H— # 106 28.8 77.2 14350 /Il ez B9 144 776
123661 2 Zzir ¥ 97 204 766 133612 A RFiF B 9 16.8 77.2 1436 K& & B 92 14.4 776
123760 BRIl #BEF # 103 264 76.6 13376 #A FFE # 94 168 77.2 14371 R& Ef # 110 32.4 776
12384 ®MA BEX # 9 144 766 13386 E&N BT— ¥ 94 168 77.2 14384 HM {283 BO92 14.4 776
12394 A &7 # 97 204 766 13391 RAFE % # 8 108 77.2 14306 Witk KEF B9 204 77.6
12400 E% BE # 8 84 766 1340 FIR B2 # 106 28.8 77.2 14406 K%k BE B9 204 776
128160 —1& #hi— # 9 19.2 76.8 13816 mRE =B # 88 108 77.2 14416 BA B5F B# 104 264 77.6
12426 LA %k # 90 13.2 768 134211 ik BF # 94 168 77.2 14421 BE & B 98 204 77.6
1243t BH HF #0102 252 76.8 13436 s BEE # 94 168 77.2 14436 7T BS B 92 144 716
12045 F#k EHF # 108 31.2 76.8 His 55 B 9% 168 77.2 14046 %% &+ B 92 144 716
12456 RE Bh% # 9 13.2 76.8 13456 #) 2% # 0 8 48 7.2 14456 LO N\EF # 8 72 718
124661 ML =% # 90 13.2 76.8 134667 =08 %017 # 100 22.8 77.2 14461 B —* # 103 252 71.8
12476 BN 4 # 9 13.2 768 13471 FH E— # 100 22.8 77.2 14476 vk TE # 97 192 71.8
12481 B8 ¥B— # 84 72 768 13486 AR R # 9% 168 77.2 1448 RO E# B 97 192 71.8
124061 SEME BT #0102 252 76.8 13494 BiR 5 # 8 108 77.2 104961 1A 8k # 8 7.2 718
12506 BESF M= # 9 19.2 76.8 13504 [EISD #E # 9% 168 77.2 14506 A3 (B # 97 19.2 7.8
12516 BH BE # 9 19.2 76.8 135161 f8% &=H # 8 108 77.2 14516 1BFH HA # 97 19.2 71.8
12626 BpiE mE # 9% 19.2 768 13526 UL EH # 9% 168 77.2 14521 T& BEE #0097 19.2 7.8
12634 EM B # 84 72 768 13634 #WE f2— # 88 10.8 77.2 TE ER # 103 252 77.8
125461 RiF Eth # 9 13.2 76.8 1354(1 EBA HB B 9% 168 77.2 14546 &R B 91 132 71.8
12556 3 R—ER # 9 19.2 76.8 13556 /M #A # 9% 168 7.2 145561 K& & # 91 13.2 71.8
12566 ki iR ¥ 9 132 76.8 135611 &R KA B 9 16.8 77.2 145617 & HE &—ER ¥ 97 19.2 77.8
125744 =% IEE # 8 7.2 768 135761 %5 t§5 #0100 22.8 77.2 145761 FEfE —&E # 91 13.2 71.8
12584 188 EW B 102 252 76.8 135861 —#z #E # 9% 168 77.2 14584 EE BT B 97 19.2 77.8
12594 7RIl £E # 9% 19.2 768 135061 =t RIA # 100 22.8 77.2 14596 FH# HZ #0097 19.2 71.8
126061 KIEE #H—ER # 90 13.2 76.8 136061 =48 =R # 0 82 48 7.2 146061 L BBE # 103 252 77.8
12616 ik 4T # 9 19.2 768 136142 /KO %k # 88 108 77.2 146162 £% I8 # 103 25.2 71.8
126261 % IEF ¥ 9 192 76.8 13620 A = # 82 48 7.2 14620 HE HEH # 91 13.2 71.8
126361 BX H—H # 78 1.2 76.8 136361 /A BEA # 100 22.8 77.2 14634 ARk f2sh # 91 132 7.8
126461 =) R # 9% 19.2 768 136461 FI& =ik # 93 156 77.4 146461 W 183 # 8 7.2 7.8
12656 7RIl 3HUA # 90 13.2 76.8 136561 e B #0099 216 774 14654 A% Z=EA # 91 13.2 71.8
1266z AMB #HF # 90 13.2 76.8 13666z it HF # 87 96 7.4 1466f% 128 B # 97 19.2 71.8
12676 /IR = ¥ 9 19.2 76.8 136761 #HE BB B 099 216 774 =8 ER # 103 25.2 77.8
12684 415 T— B 90 13.2 768 13684 =i —% #0099 216 77.4 14684 /IR BN # 8 7.2 7.8
126061 K& 22 # 8 7.2 768 13694 Il B2 ¥ 93 156 77.4 14694 Bl BB B 91 132 71.8
127061 ThE 35 # 78 1.2 768 137061 EI5 F— B 93 156 774 14706 bt &S # 97 19.2 7.8
I & # 84 7.2 768 13716 AH BT B 99 216 77.4 14716 = % # 103 25.2 71.8

127261 il B2 # 100 240 77.0 137261 =18 =7 # 87 96 774 14726 258 4017 # 109 31.2 77.8
127361 BB E2 # 9 180 77.0 137361 N RS #0099 216 77.4 14731 = #ngl # 103 25.2 77.8
127461 ¥F ® # 8 60 77.0 13744 HE {88 % 81 96 774 147461 WA B8 # 103 25.2 77.8
127561 /ME B # 9 180 7.0 W {hEg % 87 9.6 7.4 14756 KB E8F # 91 13.2 718
12766t BH =¥ # 101 240 77.0 137661 X& EB B 99 216 77.4 14761 g 2 ¥ 97 19.2 71.8
127761 £k 5= # 107 300 77.0 137760 R HsF # 111 336 77.4 14776 HE Kb # 103 252 77.8
12784 {RE Bh% # 9 180 77.0 13781 #3K HEER #0099 216 77.4 147861 thiE BEIL B 97 19.2 77.8
12796 EiE 5 # 95 180 77.0 1379% LLISF #F B 111 336 77.4 14796 B B # 109 31.2 77.8
B 5 # 9 180 77.0 138061 i 1% # 93 156 77.4 14804 #EE 3} # 103 252 77.8

12816 &I EHf # 9 180 77.0 1381 AE &% B 93 156 774 1481 uO N\EF B 90 120 780
BN # 89 120 77.0 1382 #AK WX # 87 96 774 14824 HE BF ¥ 102 240 78.0
12834 #£1E FETF # 9 180 77.0 13831 HH =2F B 105 27.6 77.4 HE BY # 102 240 78.0
1284 B & # 89 120 77.0 13846 &3 =F ¥ 93 156 77.4 14844 Il B2 ¥ 102 240 78.0
128561 s588 iR # 9 180 77.0 1385(; BEO & # 87 96 774 148561 BEA EF #0102 240 780
128617 A& = # 113 36.0 77.0 13861 B34 =— #® 105 27.6 77.4 14861z Il %8 ¥ 102 240 78.0
12874 AR = # 9 180 77.0 13874 %M # 87 96 77.4 14874 #rkt E8 ¥ 114 360 780
12881 £® AETF # 89 120 77.0 1388 &A EH # 93 156 77.4 14881 #HIl IE% B 9 120 78.0
1289f A BE— # 89 120 77.0 1380f =8 % ¥ 93 156 77.4 14800 Tk Mz % 8 60 780
1290f R 31 # 89 120 770 13906 RBEME s ¥ 105 27.6 77.4 1490% i # # 9 120 780
12016 7k BE # 9 18.0 77.0 13011z FE) = #® 111 33.6 774 1491/ FIL 178 ¥ 102 240 780
12926 F)I| = # 89 120 77.0 139217 FE fg— # 81 36 774 14921 £EAR % B 102 240 780
120361 IIE MF # 107 300 77.0 13931 %HiE BE B9 216 77.4 14934 4@ WF # 96 180 78.0
120461 X% —& ¥ 95 180 77.0 13046 FRE 1T # 93 156 77.4 14944 &)1 —* # 8 60 780
129561 ZxI 7t # 9 180 77.0 1395( &% IBF B 99 216 77.4 14956 W8 =E # 9 180 780
12060 =ik ZBRE # 113 36.0 77.0 130612 WA == # 105 27.6 77.4 1496f %% BAA # 9 18.0 78.0
12974 HF 18 # 9 180 77.0 13974 HE —% B 99 216 77.4 149761 ik BF #0102 240 780
1208f =% FE # 89 120 77.0 13981 E+E fg= #0099 216 77.4 149861 &% TF # 9% 180 780
1200f1 #%k E%E # 107 30,0 77.0 13994 HM {28 B9 216 77.4 14994 M1 = # 84 60 780
13004 %O B# # 101 240 77.0 1400t =48 *LE # 93 156 77.4 15006 £% %% % 96 18.0 78.0
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1.5.6.7.8.9.10.11.12.15.16.18

BAfER : 20214068018 (k) % 1.3.4.5.6.8.13.14.15.16.17. 18

IE & FLLyv—4% GROSS HDCP  NET IE 2 FLAv—% GROSS HDCP  NET IE 2 FL1¥—% GROSS HDCP  NET
15014 #fE E£F # 102 240 78.0 160142 2% &ih # 105 26.4 78.6 170146 s FIk # 106 26.4 79.6
15021 168k EmE # 108 30.0 78.0 160261 48 =X ¥ 99 204 786 17024 E)Il =3 B 9% 144 796
15034 B =5% # 9 18.0 78.0 1603 /NIl Kt B 99 204 786 1703 BH EB8 # 100 204 79.6
15046 &+ ¥4 # 8 60 780 16044 #RE & B 105 26.4 786 170461 MIl HB # 88 84 796
15056 XA —3% # 9 120 780 16054 Ak &= # 110 31.2 78.8 17051 & BF # 100 20.4 79.6
1506fL A% BE= B 102 240 78.0 16061 /INE FERE # 104 252 788 17066z ®L B— # 100 20.4 79.6
15074 Mg &= # 108 30.0 78.0 16074 A& FIB # 8 7.2 788 17076 X& =B # 100 20.4 79.6
1508 12 Z=id ¥ 9 180 780 16081z TE BEE # 98 19.2 788 170811 #RIF HA B O112 324 79.6
15094 =M@ BT B 9 120 780 16001 F# B— # 110 31.2 78.8 1709f &g = B 9% 144 796
1510t 28 & # 89 108 782 16106 Bk 42 # 110 31.2 78.8 17106 AEH = # 106 26.4 79.6
15114z HE BF # 101 228 78.2 16111 BH BE # 98 19.2 788 7 MAZE B # 100 204 79.6
HE BF B 101 228 782 16126 I &3 # 104 252 788 17126 )11 —3% # 88 84 79.6

15136 #HE BB # 101 228 78.2 16136 S & B9 19.2 78.8 wH —% # 8 84 796
15146 RO B # 101 228 782 16146 E#E & B 92 132 78.8 171460 A1 #HER # 8 84 796
151562 $8M FMOER # 95 168 782 16156 %55 B S B 92 13.2 788 17156 +B & B 9% 144 796
1516f2 EIL & # 101 22.8 78.2 16161z 8T EHi- # 98 19.2 788 171662 & £17 B 9 144 796
15176 K& N # 95 168 782 16176 HA & # 98 19.2 788 174 FIA EEE # 88 84 796
15186 & BT # 101 228 78.2 1618tz K& BA%E B 92 132 78.8 17184z HMH £ ¥ O9% 14.4 796
15196 HiE % # 101 228 782 16191 k48 2 # 110 31.2 78.8 17196 B %3 ¥ 94 144 796
15206 JIIX %k # 8 108 782 16204 1512 28I ¥ 104 252 78.8 172061 g2 13 # 106 26.4 79.6
15214 EPJII B ¥ 89 10.8 782 16211z 2 = B 92 13.2 78.8 720 BEA SR # 106 26.4 79.6
15224 s+ &% # 101 228 782 16226 A TiE # 8 7.2 788 172261 KA B4 B 111 31.2 798
15236 B E3 # 107 28.8 78.2 16236 K& 2 B 92 132 78.8 17236 BEH =X #0099 192 79.8
15244 M = # 101 228 78.2 162401 =iy 2 # 8 7.2 788 172461 BB 3A # 87 7.2 798
1525(f =% IFHE # 83 48 782 16256 HH £ B 92 132 788 17256 8K & B 93 132 79.8
152612 &8 &R ¥ 101 228 782 162667 /NE f2AER # 104 252 78.8 17262 @Il E= B 99 19.2 79.8
16276 &)1 HHEE # 83 48 782 162746 RO E # 103 240 79.0 17276 Rk BEF # 105 252 79.8
1628f KiEM #H—ER # 95 168 782 162861 AFH mF ¥ 103 240 79.0 17286 1R AK fEh B 87 7.2 79.8
15206 =) #— # 107 28.8 78.2 16296 /b $E— B 91 120 79.0 17294 A =HF B 111 31,2 79.8
153041 &% IEF # 101 228 782 16306 R 1888 ¥ 109 300 79.0 17304 #AE BEF # 111 31.2 79.8
15316 k& 2 ¥ 107 28.8 782 16316 F1& EFF # 97 180 179.0 173162 KIEE #H—ER # 105 252 79.8
1532 L&t BiA # 9% 168 782 16326 8RFT {2 T B 91 120 790 17321 &L E—ER # 111 31.2 79.8
15334 AM #HF # 95 168 78.2 16336 ¥ A X B 91 120 79.0 17336 #52 2 # 111 31,2 79.8
1534f BSM BEA # 9% 16.8 782 16344 §%M B53A # 109 30,0 79.0 17340 32 H2Hh # 99 19.2 798
15356 K fliz # 83 48 782 16356 1k & # 103 240 79.0 17354 ik REF # 1056 252 79.8
153612 57 Hi # 95 16.8 78.2 163612 A% IF # 109 30,0 79.0 17361 BER HHY B 105 252 79.8
16374 = K— # 113 348 78.2 16376 SH Zh # 79 00 79.0 17376 R #£1th B 93 132 79.8
1538f EIL M # 101 228 78.2 16384 Rk BEs ¥ 91 120 79.0 17386 k2K H= # 93 13.2 79.8
1539f M % # 89 108 78.2 16394 #%5# g B 91 120 79.0 17396 & SKER B 93 132 79.8
15406 # FEF # 101 228 782 #H# 8 # 97 18.0 79.0 174060 K 84 ¥ 104 240 80.0
15411 =@ BEHl # 101 22.8 78.2 16410 B X ¥ 97 180 79.0 17416 Wl B2 ¥ 98 180 800
154201 k% BE # 9% 168 782 16426 FiF Eth # 8 60 790 1742( FAAX BERL # 110 300 80.0
1543 1534 fl— # 95 168 782 164361 AT 4% # 97 180 79.0 174361 % #F # 98 18.0 800
1544 88 B # 101 228 78.2 16441 #AMH 4 # 97 180 79.0 17846 BHE = B 92 120 80.0
154561 KEE @2 # 9 168 782 1645( #FE =M # 91 120 79.0 17456 K2R = # 98 180 80.0
15460 #A & # 89 10.8 782 16460 R =B # 103 240 79.0 1746f %£M $Rth # 116 36.0 80.0
15476 F& =ik # 100 21.6 78.4 16476 #)1 Ei# # 91 120 79.0 17471 BHE REF # 116 36.0 800
15486 F3H (EB # 112 336 78.4 16481 =48 5 # 103 240 79.0 17486 miE T— B 92 120 80.0
15494 FE ah% # 100 216 78.4 1649 EE W # 109 300 79.0 17494 EH Esk # 98 180 800
15506 RO #LF # 8 96 784 16506 k& &2 # 8 60 79.0 175060 /NE& EERL # 104 240 80.0
15516 E& FIF # 94 156 784 16511 B =% # 115 36.0 79.0 17516 HE =17 ¥ 104 240 80.0
16524 HMH Ak # 94 156 784 165261 +H #EX # 115 36.0 79.0 17524 A K # 116 36.0 80.0
1553 TSI HE # 94 156 78.4 16634 #ith B # 109 300 79.0 17531 XA EF ¥ 104 240 800
15544 A @i ¥ 94 156 78.4 1654f EH RE # 109 300 79.0 17546 E# R # 9 180 800
15556 AMH = # 94 156 78.4 165561 #/HA #B— # 108 28.8 79.2 175561 ;2 H2h B 92 120 800
15561 KA =F # 112 33.6 78.4 165662 Eal L{F B 102 228 79.2 175662 # # # 110 30.0 800
15574 A #®F ¥ 94 156 78.4 165761 |A E— # 9 108 79.2 17574 RE Ex # 116 36.0 80.0
16584 Il i # 88 9.6 784 16580 =2 =4 # 9% 16.8 79.2 175861 Il B2 # 91 10.8 802
15504 M HRE # 9 156 78.4 16594 BpiE E3 #0102 2.8 79.2 175961 IR %ﬁ # 109 28.8 802
156061 &Ll Fi— # 8 96 784 16604 HiE 7% # 9 108 79.2 176061 #HE S # 97 16.8 80.2
156162 Wil 18X # 94 156 784 16611z 548 BE # 96 16.8 792 17616 8RiE EA # 109 28.8 80 2
15624 (LM #/5 # 112 336 78.4 166261 /NE 25T #0102 228 79.2 176261 W% HE # 97 16.8 802
15634 7% BF # 100 216 78.4 16634z FEM [&E # 108 28.8 79.2 17636 BpilE % # 103 22.8 802
ik BF # 100 216 78.4 166441 it BERL # 108 28.8 792 17644 LM 25 # 97 16.8 802
15654 A#t & # 8 96 784 16656 #AE *LA # 9 16.8 79.2 176561 =18 BT # 109 28.8 80 2
156642 FISp Eem # 100 21.6 78.4 1666 A BA B 102 228 79.2 1766f% Bi5 B2 # 91 108 802
15676 2L #iith # 94 156 78.4 166761 A+t F— # 9 16.8 79.2 176761 2% # # 115 34.8 802
156841 =Ll E—ER # 100 216 78.4 16684z HMH 2R #0102 228 79.2 176861 il K # 115 34.8 80.2
15604 HiE %%k # 100 216 784 16691 =@ pmEE # 9 10.8 79.2 176961 FHE S # 97 16.8 80.2
15706 FMH Fl— # 82 36 784 167046 &M B B 108 28.8 79.2 177061 BTl fith # 103 22.8 802
15716 5@ R% # 94 156 784 16711 &R REL # 90 10.8 79.2 17716 =@ 28R # 9l 10.8 802
157261 FHt AIF # 100 21.6 78.4 16726 Et BF ¥ 114 348 79.2 7726 mEs = # 91 108 802
15736 Il RIE # 106 27.6 78.4 167360 E#k # 95 156 79.4 17736 F#HMA %67 # 103 228 80.2
157461 JEE # # 87 8.4 786 16744 hek T # 101 216 79.4 1774 == # # 91 108 802
15756 K ahsh # 99 204 786 16756 B 188 # 107 276 79.4 17754 &M FOA B 97 16.8 80.2
K& 3hA # 105 26.4 78.6 167662 1£#k 57 e # 101 21.6 79.4 17766 # % ¥ 103 22.8 802

15776 BB & ¥ 99 204 786 16776 Bk 5 # 101 216 79.4 7776 B B # 97 16.8 802
15784 RO B B 99 204 786 167861 15 ZHE # 101 216 79.4 1778t SME IEH B 102 216 80.4
15796 EI5 B— # 99 204 78.6 TE ESR # 89 96 794 17796 15 REF # 9 156 804
15804 =48 & # 105 26.4 78.6 1680tz RE E= # 9 156 79.4 17804 A% 870 # 9 96 804
1581z AH = # 93 144 78.6 16811z hiE Bz B 95 156 794 1781 =m Bk B 90 96 804
158261 ONA 7% ¥ 99 204 786 16821 BTl Fete ¥ 113 336 79.4 178261 BA BF ¥ 114 336 804
158361 A% —&F ¥ 93 144 786 16834 Bpig & # 101 216 79.4 17831 & E= # 102 21.6 804
158461 BT MR #0099 204 786 1680 TR % # 89 96 794 17844 FLL 1748 # 9 156 804
15856 ik = #0099 204 786 168561 LIl B3 B 101 216 79.4 17854 #0 BE;T # 108 27.6 80.4
1586fz A+ BB ¥ 99 204 786 16861 = &R # 113 33.6 79.4 17861 4L 7w ¥ 108 27.6 80.4
158741 1L F0E B 93 144 786 16874 AM #WE # 107 276 79.4 17874 ik E7% B 102 21.6 804
15884 M #H— # 105 26.4 78.6 16884 N EA # 9 156 79.4 17884 B B # 96 156 804
15894 188 FM #0099 204 786 16894 Bl EE # 101 216 79.4 17896 45 A ¥ 102 216 80.4
15906 %% = ¥ 99 204 786 16904 HiE A # 107 27.6 79.4 179062 ®L f5F # 108 27.6 804
15016 B2 1T # 111 32.4 78.6 16011 %t H= # 101 216 179.4 17916 il & # 108 27.6 804
15924 &L FE—ER B 99 204 786 16926 W IE= # 9 156 79.4 17926 FIL —F ¥ 108 27.6 80.4
1593 ¥ mz B 93 144 786 1693tz =12 &7 # 8 96 794 179361 #% 1Eth # 108 27.6 80.4
15944 ALt BRE #0099 204 786 16944 HAH EZ # 9 156 79.4 1794 FiE B # 102 21.6 80.4
15956 TN KB # 93 144 786 1695 1534 f— ¥ 95 156 79.4 17956 K 8hA # 107 26,4 80.6
1596f 2@ EiE # 81 84 7186 16061z #1)Il =8 # 107 276 79.4 1796f &A =3 ¥ 113 32.4 806
15976 R % #0099 204 78.6 16974 A % # 101 21.6 79.4 17974 #ul B= # 107 26.4 806
15981 ik AER # 87 84 786 1698 Il H<H # 107 27.6 79.4 179861 WA #E # 101 204 806
15904 #B4% FEtt ¥ 99 204 78.6 169911 )l =%F # 9 156 79.4 17994 B 1534 # 107 264 80.6
160061 ik = ¥ 93 14.4 786 17004z JEE # B 94 144 796 18006z SELL 178 # 101 204 806
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1.5.6.7.8.9.10.11.12.15.16.18
BAfER : 20214068018 (k) % 1.3.4.5.6.8.13.14.15.16.17. 18
IE & FLLyv—4% GROSS HDCP  NET IE 2 FLAv—% GROSS HDCP  NET IE 2 FL1¥—% GROSS HDCP  NET
18014 Bpig ;53 # 101 204 806 190161 BH =F # 119 36.0 83.0 20014 #k EFI # 127 360 91.0
18021 #En = # 8 84 806 19024 AEA BE # 119 36.0 83.0 20021 ¥ BHX # 127 360 91.0
18031 A E= ¥ 9 144 806 19034 BEE BhsE # 119 36.0 83.0 20031 EK BEF # 127 36.0 91.0
18044 Ll HIE # 101 204 806 190461 BFt fFE # 119 36.0 83.0 2004 FE K& #0127 360 91.0
180541 HA EH # 107 264 806 190561 stk KEF # 119 36.0 83.0 20056 #E AT # 127 36.0 91.0
18066 B EST # 101 204 806 19064 Yu Ji Yeun ¥ 119 36.0 83.0 2006f ¥1H = # 126 348 91.2
18074 %A R # 112 31.2 80.8 19074 BRI e # 118 34.8 83.2 20074 KI5 2 # 120 28.8 91.2
18081 #4K #HER # 106 25.2 80.8 19081 MBHTF % # 106 22.8 832 20084 BRE fFRK # 123 31.2 91.8
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